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1.5 MATLAB
MATLAB
MATLAB
x(n) X n
xn={2 1 0 2 3 -1 2 3}
1 ( )
MATLAB
n=[4 -3 -2 -1 01 2 3 x=[2 1 0 2 3 -1 2 g
n=0 X
MATLAB
14
1 ns=0 n =10 n=3
2 ns=0 ns =10 n=3 0 n=3
3 f=-02 w=05
cl ear, n0=3; ns=0; nf=10;
nl=[ns:nf]; x1=[zeros(1,n0-ns), 1, zeros(1,nf-n0)]; %
n2=[ns: nf]; x2=[zeros(1, n0-ns), ones(1l,nf-n0+1)]; %

n3=[ns: nf]; x3=exp((-0.2+0.5j)[h3); %
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subplot(2,2,1),sTem(nl, x1);title(’ fln-3)"); %
subpl ot (2, 2,2),stemn2,x2);title(’ u(n-3)"); %
subpl ot (2,2,3),sten(n3, real (x3)); line([0, 10],[0, 0])
title(’ )yl abel (7 ") %
subpl ot (2, 2,4),sten(n3, img(x3)); line([0, 10],[0, 0])
title(’ ")yl abel (7 ")
114
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MATLAB
1 o(n-n,) impseg.m
function [x,n]=inmpseq(n0, ns, nf)
n=[ns:nf]; x=[(n-n0)==0]; % ns nf n=n0
2 u(n-ny) stepseg.m
function [x, n] =stepseq(n0, ns, nf)
n=[ns: nf]; x=[(n-n0)>=0]; % ns nf n=n0

3 sigadd.m

function [y, n]=sigadd(x1, nl, x2, n2)

n=m n(n n(nl), m n(n2)): max(mx(nl), mx(n2))
yl=zeros(1,length(n));y2=yl,

y1=(find((n>=m n(nl)) & n<=max(nl))==1))=x1;
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y2=(find((n>=m n(n2)) & n<=max(n2))==1))=x2;
y=yl+y?2

4 sigmult.m

function [y, n]=signult(x1,nl, x2, n2)

n=m n(m n(nl), m n(n2)): max(mx(nl), mx(n2))
yl=zeros(1,length(n));y2=yl,;
y1=(find((n>=m n(nl)) & n<=max(nl))==1))=x1
y2=(find((n>=m n(n2)) & n<=max(n2))==1)) =x2;

y=yl. y2;

5 y(n) =x(n—n,) sigshift.m
function [y, n]=sigshift(x, mn0)

n=mn0; y=x

6 y(n) = x(-n) sigfold.m

function [y, n]=sigfol d(x, n)
y=fliplr(x);n=-fliplr(n)

7 evenodd.m
x(n) Xe(n)  Xo(n)

function [xe, xo, nj =evenodd( x, n)
if any (imag(x)=0)

error(’'x is noT a real sequence’)
me-fliplr(n); m=mn([mn]);n2=max([mn]); meml: n2
nmen( 1) -n(1); nl=1:1engt h(n);
x1l=zeros(1,length(m);
x1(nl+nn) =x; x=x1
xe=0. 5O x+fliplr(x)); xo0=0.50x-fliplr(x));

8
MATLAB conv y = conv(x, h) n=0
{x(n): nxt.< n< nx2}
{h(n):nh1<n<nh2}
nx1<0 nhl<0 conv
{ y(n):mxd+nhl<n<nx2+nh2} conv._m

function [y, ny] =conv_n{x, nx, h, nh)
nyl=nx(1)+nh(1); ny2=nx(length(x))+nh(length(h));
ny=[nyl:ny2?];
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y=conv(Xx, h)

15
1 x1(n)=3f(rFF2) — (n+4) -5<n<h
2 x2(n)=n[u(n)—u(n-5)]+10e **™Iu(n-10)-u(n-20)]  0<n<20
3 x3(n)=cos(0.04 m)+0.2w(n) 0<n<50

w(n) 0 1
4 x4(n)=%n) =[x, x,x,x1],  x1=[10123]

n=[ - 5: 5] ; x1=30 npseq(2, -5, 5) -i npseq(-4, -5,5);
subpl ot (2,2,1);sten(n, x1); xl abel (" n’); ylabel (" x1(n)’);axis([-5,5,-2,4]);

n=[ 0: 20]; x21=n. d stepseq(0, 0, 20)-st epseq( 10, 0, 20));
x22=10Cexp(-0. 2O n-5)). 0 (stepseq(10, 0, 20) - st epseq( 20, 0, 20) ) ; x2=x21+x22;
subpl ot (2, 2, 2); stem(n, x2); x|l abel ("' n’); ylabel (" x2(n)’);axis([0,20,-1,11])

n=[ 0: 50] ; x3=cos( 0. 04[pi [h) +0. 2[F andn(si ze(n));
subplot (2,2, 3);stenm(n, x3);xlabel ("n"); ylabel (’x3(n)’);axis([0,50,-2,2])

n=[-10:9];x4=[1,0,1, 2, 3]; xTi |l de=x4’ [bnes(1, 4); xtilde=(xtilde(:))’;
subplot (2, 2,4);stem(n,xtilde); xlabel(’'n);ylabel (’x4(n)’);axis([-10,9,
-1, 4])

1.15
4
10
2 8
= = 6 ]
= 9D 4 ;
04 <L 5 ) T TT _
o ¢l TT??%W !
-2
-5 0 5 0 5 10 15 20
n n
2 4
3 ]
S = 2 1
i R AR R
0
) -1
0 10 20 30 40 50 -10 -5 0 5
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16 x(n)=u(n)—u(n-10)

n=[ 0: 10] ; x=st epseq(0, 0, 10) - stepseq(10,0, 10);
[ xe, xo, m =evenodd(x, n);

subplot(2,2,1);stem(n,x);ylabel ("x(n)");title(’ ') ;axis([-10, 10,
-1.2,1.2])
subpl ot (2, 2, 2); stem(m xe); yl abel (" xe(n)’);title(’ ") ;axis([-10, 10,
-1.2,1.2])
subpl ot (2, 2, 4); stem(m xo0) ; yl abel (" xo(n)’);title(’ ") ;axis([-10, 10,
-1.2,1.2])

1.16

HHRFS el

. . | '
N, & " JTTTT T T )

S S
S 8
-0.5 1 —0.5
~1 -1 ]
-10 -5 0 5 10 -10 -5 0 5 10
BF5l
1
0.5

T,
T

xo(n)

-10 -5 0 5 10
1.16
1.7 h(n) = (0.9)"u(n) x(n) = u(n)—-u(n-10)
y(n)
y(n) x(n) h(n) y(n) = x(n)h(n),
con_m

n=-5: 50; x=st epseq( 0, - 5, 50) - st epseq( 10, - 5, 50) ; h=((0.9)."n). O stepseq(0, -5, 50);
subplot (3,1, 1);stemn, x);axis([-5,50,0,2]);ylabel ("x(n)");

subplot (3,1, 2);stem(n, h);axis([-5,50,0,2]);ylabel ("h(n)");

[y, ny]=conv_n(x, n, h,n);subplot(3,1,3);stenny,y);axis([-5,50,0,8]);

xl abel (" n’);ylabel ("y(n)’);



22 MATLAB
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1.17
1.8
gaky(n—k)=in<n—k)
X(n) y(n) ﬂ
1 xm=fn 2 xm=un) 3 x(M=Re) 4 x(m)=e? u(n)

N=100; n=0: N- 1;
b=1;
a=[1,-1,0.9];

x1=[ n==0] ; y1=filter(b, a, x1);
subplot(3,2,1);stem(n,yl,’.");axis([O,N, -1,2]);ylabel ("yl(n)');

x2=[ n>=0];y2=filter(b, a, x2);
subplot(3,2,2);stenm(n,y2,’.");axis([0,N, -1,2]);ylabel ("y2(n)");

x3=[ (n>=0) & n<30)];y3=filter(b, a, x3);
subplot(3,2,3);stem(n,y3,".");axis([0,N,-1,2]);ylabel ("y3(n)");

x4=exp(j [pi [h/ 8);yd=filter(b, a, x4);

=5 0 5 10 15 20 25 30 35 40 45 50

8 T T T T T T T T T T

6 T .
E 4t .
2ot | e

o oot LT RS popemensmnommmssasssce

O W(F L WXy [

=5 0 5 10 15 20 25 30 35 40 45 50
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subpl ot (3,2,5);stem(n,real (y4),’." );axis([0,N,-2,2]);ylabel (" Re[y4(n)]");
subpl ot (3,2,6);stem(n,inmag(y4),’ . " );axis([0, N, -2,2]);ylabel ("Infyd(n)]’);

1.18
2
_— 1 1 ~—~
= =
= o )
_1 . .
0 ) 100 0 ) 100
2 -
umﬁ&m
1
S
&g
0
I
1 .
0 50 100
= o
T T
& Kl
0 50 100 0 50 100
1.18 17
19 x(t) =™ X, (jow)
MATLAB symbolic

X, (t)  fn=2000Hz

T =5x10"° << 1 . 25x10™s
2x 2000

Dt =0. 00005; t =- 0. 005: Dt : 0. 005; %
xa=exp(-1000Cabs(t));

Wrax=2[pi [2000; K=500; k=0: 1: K; Wk DNrex/ K; %
Xa=xalexp(-j O’ DN [Dt; Xa=real ( Xa);
WE[-fliplr(W,W2:501)];

Xa=[fliplr(Xa), Xa(2:501)];

figure(l)
subplot(2,1,1); plot(t000,xa,’.");xlabel ("t in nsec’);ylabel ("xa(t)’);
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gtext (’ s
subpl ot (2, 1, 2); pl ot (W (20pi (1000), Xal0o00,’'.");
x| abel (" Frequence in KHz' ); yl abel (" Xa(jw) (LO00" ) ; gt ext (’

1.19
EHIES
1 T T T T .'L T T T
0.8+ Y
~ 06F £ kY
%04t
02t
0 1 1 1 1 1 1
S5 4 3 2 1o 1 2 3
tin msec
5 TE L (] e L - 2

A

Xo(j@) #1000

"l J \
—— 1 1 1
-1 —0.5 0 0.5

2 -1.5

| o

Frequence in KHz
1.19

1.10 1.8 X, (t)
B5000Hz  fs=1000Hz X,(jw)

Dt =0. 00005; t =- 0. 005: Dt : 0. 005; %
xa=exp(-1000Cabs(t));

Ts=0.0002; n=-25:1:25; %
x=exp(-1000Cabs(nlls));

K=500; k=0: 1: K; w=pi [k/ K; %
X=x[exp(-j[h' OW); X=real (X);
w=[-fliplr(w),w2:501)];
X=[fliplr(X), X(2:501)];

figure

subplot(2,1,1);plot(tO000,xa,’."); ylabel ('xal(t)’');
gtext (’ "); hold on

st em( nTs[1000, x) ; hol d of f



1

subplot(2,1,2);plot(wpi,X . );ylabel (" X1(jw');

gtext (’ "); gtext(’ Ts=0.2nsec’)
1.20
HEES
0.8 - g% 7 =02 ]

xal(t)

0
B AT [A] 5 B AR

10 T T T T T T T T
of N _
3 6r i
S oaf .
T ‘/ k |
0—1 —0.8 0.6 —OI.4 —OI.2 (I) 012 0:4 0.6 0.8 1

1.20 f,=5000Hz
MATLAB fs= 1000Hz X, (jw)
121 fs = 5000Hz X, (jw) 19 X, (jw)

fs=1000Hz X, (jw) 19 X, (jw



26

MATLAB

Xa(?)

BB ACEY ) e B 2R

2,5 T T T T T T T T T
2L /\ |
T 15¢ .
St ]
0.5
0 1 1 1 1 1 1 1 1 1
-1 -08 06 -04 -0.2 0 0.2 04 0.6 0.8 1
1.21 fs=1000Hz
111 1.10 xi(n)  x2(n) sinc
Ts1=0. 0002; Fs1=1/Ts1; n1=-25:1: 25; nTs1=nl1[Ts1; %

x1l=exp(-1000Cabs(nTsl));
Ts2=0. 001; Fs2=1/Ts2; n2=-5: 1: 5; nTs2=n2[0s2;
x2=exp(-1000Cabs(nTs2));

Dt =0. 00005; t =- 0. 005: Dt : 0. 005; %
xal=x10Ei nc(Fsld ones(l ength(nTsl),1) @ -nTsl [bnes(1,length(t))));
xa2=x2[si nc(Fs2{ ones(l engt h(nTs2),1) @ -nTs2 [bnes(1,length(t))));

subplot (2,1, 1); plot(tO000, xal,’.");ylabel ("' xal(t)’);
title(® x1(n) xa(t)’); hold on
stem(n1rs1[1000, x1); hol d of f

subplot (2,1, 2); plot(tL000, xa2,’.");ylabel (' xa2(t)’);
title(’ x2(n) xa(t)’); hold on

st em( n20rs2[1000, x2) ; hol d of f

1.22



M xl(n)imff%ﬂ%% x,(f)

1 T T T

Xal (t)

- i 2 0 1 2 o Sy
| W xo(m) EEFIRELUE 5 xo(0)
# s,
05t & ‘ , |
04 b
_0.5 1 1 1 1 1 1 1 1 1
5 4 3 o 0 1 2 3 4 5
1.22 x1(n)  Xo(Nn)
1.22 1.19
x1(n) Xo(n)

X2(N) fs= 1000Hz f>2f,
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z
Z
A
21 Z
211 7z
x(n) V4
X(Z): i X(n)Z_n 2.1
ya 2.1 z z z
n 0~o z
212 Z ROC
x(n) Z
X2
S [xmz"|=M <o 2.2
Z X(2 Imz
R.<|z|<R, 21 Re R
R. 0 R. o %
/Rx,
0 Rez
X(n) n<n<n,
X(n) = %) N 21 Z
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17

X(2)= z x(n)z™" 23
n=ny
x(n) 0<|z|<w
z (0 00) ny Ny
0<|z|g n=0
0<|z|<oo n,<0
2.2(a)
21 x(n) = Ry (n) X(2
o N g N
X(2) = x(Nz"=¥ z"=
@= 3 xz"=5 2=
0<|zlg z=1 z=
n=n; n
_ X(n) n=n
x(n)—Ep n<n
Z
X(2) = Z x(n)z™" 2.4
n=ry
la, | limyla,|=p p<1 p>1
p=1 2.4
limy|x(n)z"|<1
|z[> limY{/|x(n)|=R_
Re ., 22b n >0
R.<|zls®  n<0 R. <|z|<w |z|I=0 =0
|z|= Z
2.2 X(n)=a"u(n) Z
X@=Y a7z =y @) == |z]>lal
r; r; 1-az' z-a
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2 Z
_ x(n) nsn,
X(n) = Ep n>n,
Z
X(2) = zz x(n)z™" = i x(-n)z"
limy|x(-n)z" | <1
2k =R
lim Y] x(=n) |
Rx+
n, >0 z=0 0<zkR, n,<0
2.3 x(n)=-b"u(-n-1) Z
2 > bz 1
X = —-b"z " =N -p """ =- =
(2 n:Zw z nZl z 1-b?*z 1-bz™ 2l
2.2 2.3 a=b
Z
4
Z
X(2) = i x(n)z" = z x(n)z™" +ix(n)z'”
|z|<R. lz|> R
R <|zI<R, 22 d
Imz Lt Imz
Rez 0
7 /4 W
NS 7 // ul
(a) ARKIFF) (b) F1LFHI (¢) ZEiLfFH1
2.2
x(n)=a" Zz lal<1

24

TN V%
Rez ‘% f; Rez% %2; Rez
~ <~

25

z=0  |zkR,

<|b|

2.6

R.<R,

(d) BAHFFFI
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X(z)‘za'”' ‘”—Za z +Z - :ia"z”+iaz

n=-oo

1

laz|<1 IZ|<ﬁ laz* <1 |z|>|a]
a
lal<1
1 1-a° 1
X(2) = = ) lal<|z|< =
l-az 1 azt (1—az)(1—az ) a
Z 2.1
21 z
z
o(n) 1 0<|z|g
z 1
u(n —_—= z|>1
" z-1 1-7* 2]
z -1
u(-n-1 -—= z|<1
( : z-1 1-7* 12|
z 1
a"u(n —= z|>|a
(n) i |z|>|al
z -1
a"u(-n-1 -—= z|<]a
(-n-1) = |z<|al
N -N
z' -1 1-2
n = z|>0
RO N(z-1) 1-71 |
-1
az z
nu(n = z|>1
") (z-1)% @-zY? 2l
-1
az az
na"u(n = |z|>]a]
( ) (Z_a)Z (l_az—l)Z
; z 1
~inay -
e ™du(n) e T |z|>1
. _1 .
. zsinw, Z sinw,
sinnayu(n = z|>1
() Z* -2zcosw, +1 1-2z"cosw, + 272 =l
2 -1
Z° —zcos 1-z"cos
cosnag,u(n) > o = % - lz|>1
Z"—2zcosw,+1 1-27Z cosw, +z
2 - . . _1 .
. z°sin@ +zsin(w, —6) _sin@+z sin(w, -6
sin(nay, +8)u(n) > (@-6) _ - (G _2) |z|>1
z° —2zcosw, +1 1-2z"cosw, + z
2
1
(n+Da’u(n) £ = EIEY

(z-a)?  (1-az)?
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22 Z

22.1

Z[x(N]=X(2) R_<|z|<R,
Z[y(Ml=Y(2 R_<|z|<R,
a b z

Z[ax(n) +by(n)] =aX(2) +bY(2) R <|z|<R

R=max[R. R_] R =mnR, R,]

2.2.2
x(n) Z
Z[x(M=X(2)  R_<|z|<R,
ZIx(n-m]=z"X(z)  R_<|z|<R,
m m m
z=0 z=o
z=0 z=o
Z[fml=1 z Z[fin-1)] =2"
Zfiln+l)] =z  z=o
2.2.3
x(n) Z
ZIx(M=X(2  R_<|z|<R,
2 =252 R <lzi<R,
Z
dX(2) _ d dz™"

dz dz[ Z Xmz"]= me(n) d

27

2.8

29
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=- z nx(n)z"t=-z*§ nx(n)z™"

n=-o n=—oo

=-7"Z[nx(n)]

dX(2)

Z[nx(n)] = T, R-<lz|<R,
VA —Z
Z[n"x(n)] = (—z;—z)mX(z) 2.10

d.m __dd dfg_d, 0O
(—ZE) X(2) = Zdzgzdz% H—deX(z)%

2.2.4
Z[x(n)] = X(2) R-<lz|<R,
ZR"X(n)FF i ax(nz" = i x(nN)(@™*2)" = X(a™2) 2.11
R.<la”z|<R, l|a|R_<|z|<|a|R. a
X(2) z=1zn X(a™z) a'z=z z=az
a z z a
z z
2.2.5
Z[x(n)] = X(2) R-<|z|<R,
Z[x(-n)] = X(zh 1/R, <|z|<U/R_ 2.12
2.2.6

ZIx(ml=X(2)  R.<|z|<R,
ZIh(ml=H(@  R.<|z|<R,

ZBE(n)"h(n)E= X(2)H(2) max[R. R,_]<|z|<min[R, R.,] 2.13



o

Z[x(n) On(n)] = i [x(n) Oh(n)]z™" = z Eﬂi [x(m)h(n—m)]gz'”

n=—co n=-oo =—00

[ [

=3 xm) éi h(n—m)z ™™ @z'm = 3 X(M)Z"H(2)=X(QH (2

y(n) x(n) h(n)
z X(29H@ z
y(n)
25 x(n)=a"u(n) h(n)=b"u(-n) |a|<|b]| y(n) = x(n)"h(n)
X@=-2= |z|>|al
Z—a
H@=—>  |z|<b]
_—
_ _ -bz _ b z b z
Y(2)=X(2H(2) = (z=a)(z=b) b-az-a b-az-b lal<|z|<|b]
Y(2 y(n)
y(n) = Z Y (2)] =—2— a'u(n) + —L—bhu(-n 1)
b-a b-a
2.2.7
Z[x(n)] = X(2) R-<lz[<R,
Z[h(n)]=H(2) Ri- <1Z|<R,
2[x(r) )] = RKOHOV SRR, <I21<R.R, 214
c v X)) HE
Vv
2.2.8
x(n)
x(0) = Iirg X(2) 215
x(n)

X(2) = Zx(n)z'n =x(0) +x(D)z ™+ x(2)z % +L
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lim X (2) = x(0)

2.2.9
x(n) Z z=1
Iingx(n):lirr;(z—l)X(z) 2.16
(z-DX(2) = i [X(n+1) -x(n)]z™"
x(n)
(z-)X(2) = lim i [X(Mm+2) - x(m)]z™"
(z-DX(2 ) z=1

Izim(z—l)X(z) = llm i [X(m+1) = x(m)]

= Lim{[x(O) - 0] +[x(M) = x(0)] +[x(2) - x@)] +L +[x(n+1) - x(n)]}
:rllim[x(n+1)]

= lim x(n)

n-oo

2.2.10
Z[x(n)] = X(2) R.<|z|<R,
Z[x(n)] = XH(z") R-<|z|<R, 2.17
Z{Re[x(n)]} =%[X(Z) +XH(Z)] R.<|z|<R, 2.18
Z{Im[x(n)]} =2ij[><(2) - X2 R_<l|z|<R, 2.19
2.2.11 Parseval

Z[x(m] = X(2) R.<[z|<R,
Z[h(m]=H(2) R.- <lz|<R.
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R-R- <1<R.R.
- Oy — L 2 oz
n:me(n)h (n)—Z—TqE\P((v)H BFB/ dv 2.20
c ma(R. —]<|v|<minR, —]
. R
23 Z
X@=y xmz" R_<IzI<R.  X(2
x(n) = zirq, ﬂx (2)2"*dz 2.21
¢ I
23 p >
o 7
X(z)=n:z_wx(n)z'" ™t / % %
o R
X@2™ =y x(mz 12" % Rer
c ¢ il
L 57
J’X(z)zm dz:J'[ Z x(n)z"1z2""dz
C C n= 23 F@2
2.22

IX(z)zm'ldz: i x(n)I Z""dz

n=

L 27 k=0
!\F 1dz_Ep k%0
=n

2.22 m
ﬁp((z) Z"Ydz=2 7 x(m)
C

x(n) = Ziﬂj!QX(z)z”'ldz

z
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9 x(=n) XH(e'®)
10 Re[x(n)] X (€9)  (X(e?)
11 jim[x(m)] X, (€9)  (X(¢?)
12 x.(n) Re[ X (¢)]
13 %, () jIm[X (e)]
x(n)
% X (&) = X"(e7?)
] ReLX(¢)] =Re[X(e7°)]
14 5 IM[X (&)] == Im[X ()]
Hx @) X ()]
FArg[X (€)] = ~Arg[ X (e7)]
15 %.(n) Re[ X (¢)]
16 %, () jIm X (e)]
17 () Ry () = X(€°)Y (€*)
x(n)
x(n) X (e)
X.(€) X, (e)
X (€)= X (€°) + X, (") 2.46
jow 1 jow Of—jw
Xo(€ )=§[X(eJ )+ X(e’)]
jow 1 jow Of—jw
X, (¢ =E[X(eJ )= X (e’)]
X.(e") X (€)= X (e7) X, (€*) X,(e) =
X, (€7) X (&)
X (€)= X(e7%) X(e?)
X (€)= -X(e?)
2.3 11 14
2.3 7 9 12
11 13



2.6
2.6.1
Z
H(2)
2.6.2
z
|z|=1
z
2.6.3

h(n)
y(n) =x(n) Oh(n)
Y(2) = X(2H(2)
H(2) =@ 2.47
X(2)
h(n) Z
H(2) = Z[h(n)] = i h(n)z™" 2.48
h(n)
i |h(n)| <
i \h(n)z'n <o z
R.<|z|sw
H(2 0
1<|z|g

y(n) + iqy(n—i) :ibmx(n—m) 2.49

V4
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Y(2) + ia,.z'iY(z) =Mmez'mX(z) 2.50
S b,z ™
H(2) = MG ”;N 2.51
X(2) 1+ z a 7
251
-,
G ¢ E— 252
l:l(l_dkz_l)
z=cn H(@ z=d« H@® ax by
K
251 252 H(2)
H(2) h(n)
27 Y(=1) -2 y() + Y0+ = xX(0)
h(n)
0 c
_Y(2 _ 1 _ z 20z z
H(2) = = = =zG—5-—C
X@ 1.3, (2—2)(2—1) 3¢-2 .. 1p
2 2 O 20
h(n) H(2)
|z]|>2
2 on -n
h(n):§(2 =27)u(n)
|z]|>2 |z]=1
2.6.4
w X(n)=ejwn,—00<n<oo
h(n)

y(n) = h(n) Ox(n) = i h(m)e ™™ = glen i h(m)e™'“™ = e*"H (e/*) 2.53

m=—co m=—co
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H(e”) = i h(m)e *™

m=—co

HE?)  h(n)
h(r)
H ()
H (@) HE)
H(©?) = H(2) .y 254

2.7 MATLAB Z

2.7.1 MATLAB

1 residuez

Y(@2) = X(@HQ) :%

Y(2) = B(2) _ B +B(2z" +L +B(N)zZ™™ +B(N +1)z"
Az AD+AQRz +L +AN)ZM Y + AN+DZ ™

SO —+ ) —+L s TN —+k() +k(2z" +L
1-pMzt 1-p2)z* 1- p(N)z*

y(n) =r@p@"un) +r(2)p2)"um) +L +r(N)p(N)"u(n) +k@(n) +k(2)o(n-1) +L
k M=N

r p k
[r,p, k] =resi duez(B, A
2 impz H2 Z h(n)
[ h, T] =i mpz(B, A, N)
h h(n) N T N T=[0
N-1]’ hn n=0 1 2 L N-1 N T=N N
h(n)
3 freqz H(2)

H=freqz[ B, A, W
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w H(2) H
[Hw =freqz[B,AM

M H M w freqz
M [0 1 w M
512 freqz

4 zplane H(2)

zpl ane(z, p)

zpl ane(B, A)

H(2)
2.7.2 MATLAB

28  Xy(2) =z+2+4371 Xy(2) = 22+4z+3+570  Y(2) = Xu(2) Xa(2)

x1=[1, 2,3];nl=-1:1;
x2=[2, 4, 3,5];n1=-2:1;
[y, n] =conv_n(x1, nl, x2, n2);

x3=
2 8 17 23 19 15
n3=
-3 -2 -1 0 1 2

Y(2) = 222+82+172+23+197 *+1572
2.9 X(2) =((1-0.9z1%1+09z)™" |z>09 Z

b=1; a=poly([0.9 0.9 -0.9]);
[r,p, K] =resi duez(b, a)

0. 2500



0. 5000
0. 2500
p =
0. 9000
0. 9000
-0. 9000
k =
[]
X(2) = 0.25_1+ 0.5_l _ 0.25_11 12]>09
1-09z" (1-09z%)% 1+09z
x(n) =0.25(0.9)"u(n) + g(n +1)(0.9)""u(n +1) + 0.25(-0.9)"u(n)
2.10 y(n) = 0.81y(n—2)+x(n)—x(n—2) h(n)

g(n) H(*)

b=[1,0,-1];a=[1,0,-0.81];

figure(l)

subpl ot (2, 1, 1); di mpul se(b, a, 50) ; yl abel (" h(n)");
subplot (2, 1, 2); dstep(b, a,50);ylabel ("g(n)’);

figure(2)
w=[ 0: 1: 500] [Cpi / 500;
freqz(b, a,w)
24
2.1

FIR H,(z)=1-z"

1-zN
IR HZ(Z):—l—aNZ_N
N=8 a=0.8 09 0.98 H,(z) H,(2
b=[1,0,0,0,0,0,0,0,-1]; Wwil(z) H2(z)
a0=1; %H1( z)
al=[1,0,0,0,0,0,0,0,-(0.8)"8]; %H2( z) a=0.8
a2=[1,0,0,0,0,0,0,0,-(0.9)"8]; %H2(z) a=0.9

a3=[1,0,0,0,0,0,0,0,-(0.98)"8]; %12(z) a=0.98
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25

)

25
IR

Impulse Response Step Response
1 1
0.5
= £ 05
= 0
0
-0.5 : : : : 0 : : i
0 10 20 30 40 50 0 10 20 30 40 50
Time (sec) Time (sec)
100 T T T T ! T T T T
g o ! R
] s Sty COTTEEE EEEEREE SRR SRR S ]
g, i i i i . i i i i
§ 200 _______;______J_______._______._______% __________________________________ |
300 | | | | i | | | |
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
Normalized Frequency (xn rad/sample)
100 T T T T T T T T T
Z 50 \ ——————— e T R —
o : : : ' : ' ' ' '
b i ' ' ' ' ' '
B O AR
P : : : : ; :
8 :
B -50 R e e e s e ELLL
100 | | | | i | | | |
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
Normalized Frequency (xr rad/sample)
24
[H W =freqz(b, a0); 9%H1( 2)
[H1, wl] =freqz(b, al);
[ H2, w2] =freqz(b, a2);
[ H3, w3] =freqz(b, a3);
subpl ot (4, 2, 1); zpl ane(b, a0); xl abel (’ ") ylabel (7 );title( FIR
)
subpl ot (4, 2, 2); zpl ane(b, al); x| abel (’ ") ylabel (7 )
title('11R a=0.8")
subpl ot (4,2,3);plot(wpi,abs(H);title(’ FIR )
subpl ot (4,2,4); plot(w pi,abs(Hl));title('lIR a=0.8")
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FIR iR vE B 28T A E IR HridR U5 28 T ik i 18] a=0.8
1f YR 1f RETCEN
. ' s - * T-
R ' ] o ' o
0.5} K : e 0.5 RS : AT
B gf--gyoneeee- - R BN Y VR SO SR ¢ 45 -
EiE| : = ; :
05t ™ : K 0.5 S
o < N <
| B S | S - it
-1 05 0 05 1 -1 05 0 05 1
eSS eSS
FIR HAR IR AR IR A e i il 2% TIR AR S8 SR IR AN 8L 1 2% 2=0.8
2 2
15 15 :
1 1 :
0.5 0.5 '
0 0
0.5 1 0 0.5 1
TR #R V& 28 T R A 2=0.9 TIR HtdR Uk I6 28 Z 1 r 5] 2=0.98
1f R TR 1f T
& R & m
0.5 A B 0.5 N : .
juta 'J 1 \I| e 'J E 1
T Y - N T Y, ~ S -
B ?< : >? B % : ?
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) = Sﬁ() 0<nsN-1
N
=Y x(n+N) = () = X({modN])
(M) (modN]) N
z Z
> 130127
Z
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3.4.1
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3.4.2
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X((n=m))y x(n) ) X((n=m))y Ry (n)
N
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DFT[x(n—m)] = DFS[n - m)] R, (k) =W, k)R, (k)
2

X (K) N
X(k)  x(n)
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31

WI\TN - e—j(2n/N)nN - e—jZTln =1

DFTLE()] =[szx(n)wN<“'k>"F - XN -K)

DFT[X"(-n)] = X"(k)

DFT[x(-n)] = Zxﬂ(—n)wN“k = [Z X(~MWg™]"

= 0 WNnk O DFI'= o W’\Tk O - XEI k
[y oW L3 oW1 =X 0
DFT DFT

DFT{Re[x(n)]} = X, (K) =§[X(k> + XN -K)]

DFT{Re[x(n)]} = Dﬁ{g[x(n) XM} = %{DFr[x(n)] + DFT[X(n)]}

=§[X(k)+ XN k)] = X (K)
i DFT DFT
DFTIMX(O)]} = X, () = 21X = X (N =K)

DFT{jIm{x(n)]} = DFr{%[x(n) - X)) = %{DFr[x(n)] ~ DFTX(n)]}

= 21X = X (N = k] = X, (0
X(r) X (K)
X (k) = X"(N -K)
X(r) X (K)
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DFT[x,,(n] = Re[X (K)]
DFTTx,, (M)] = IM[X (K)]

DFT DFT

% (M) %(n) Xy (k) X;(k)

y(n) =%, () + j%,(n)
DFTLy(n)] =Y (k) = DFT[x, ()] + JDFT[X, (n)] = X, (k) +j X, (k)
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3.48
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3.50



63
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W= 3 %Mx0-m = 5 % mx(-m (359
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2 %(n)  x(n)
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L
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Y =[ le(m)xz ((n-m), IR (1) 3.55
%, () L
(n) =X, ((n))y = i X, (n+rL) 3.56

r=—oo
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3.57
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3.4.5 Parseval
X, (k) = DFT[x(n)]
N-1 0 : l N-1 0
I;x(n)y (n) —N;X(k)Y (k) 3.58

N-1 N-1 1

n; x(n)y“(n) = nZ Xy ZY(k)WN' "

1 N-1 N-1

=N ;Ym(k); X(NW,

_1E 0
—N;X(k)Y (k)

y(n) = x(n)

N-1

Zx(n)xu(n) =%% X (k)X (k)

N-1 N

> 1) =t Za X(K) 350

3.5

DFT

351

1 DFT

3.8 a
%(n)  x(n) L DFT
38 b

2 DFT

X, (t) Xa(i92)
DFT  x,(t) X (t) X(n) = x,(nT) x(n)
DFT X (k) x(n) X (") [0 24 N



x(n)  X(k)
x1(n) Sy Xi(b
& o x1(n) QP xa(n)
X2(n) DFT Xo(k)

(o) EFEHHE
20 g rmAEs [ L ADFT -
PO R0
20 N LN L £ DFT

(b) H] DFT HHE &5

38 DFT
DFT
DFT
X,(t)
X(jQ) = J’f" x(t)e 2 dt 3.60
X(t) = — J’°° X(j2)edQ 3.61
2r) -
DFT
1 x® T X, (t) h=nr = %, (NT) = X(n)
t-nT, dt-T, fdtaZT
X =Ty x(nT)e e 3.62
X(T) == [ X (j Q)& dQ 3.63
2T[-I0 '
2 x(n) = x(nT) N 3.62
N-1
X(jQ)=T Z x(nT)e T 3.64
f=1T f,

f=1T
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3 N f. = NF,
Fo
T, =1/F
© N-1
Q-kQ, A2 - Q, [ d2- ggo
Tozizﬁz NT
I:0 fs
Q4= 21F,
_QOT :&:QO ]_2T[ :2]’[5:21‘[1:2_“
fs 'Qs fs TO N
3.64
N-1 21'(

X(jkQ) = X(jQ) lg=q, TZ)x(nT)e"mO”T—TZJx(n)e N —TDI——I'[x(n)] 3.65

x(nT) = % Z) X(jkQ )e*?o = F, Z) X (jkQ O)E'W”k

1N1 21

N 21'(
=FN= Z}xukgo)eNk: %% (ke 3.66

= ZIDFT[X (k)]

3.5.2
1
fs f,
f,>2f,
T  T=1f <1/2f,
fS
fs f > (4~10)f,
- fc
DFT Fy

T,=1/F,



N :E :&
T F
T T f F,
f T f, N
I:0 I:0
T N T f
f N
fF N
N s 2fe
I:0
2
x(n) DFT
N
y(n) = x(NRy (n)
jow _i jw jw :i n e j(w—-6)
Y(€°) = X(€°) DH(€) =~ [ X(e)Ry(e"")de 3.67
o~ _ i sin(wN/2)
Ry (€“) =DFT[Ry(n)] =€ “an@i2)
39 a |wl 21N
X =cos@n) @ =14
X(ej“’):Ti[d(w—g—ZTd)+5(w+g—2Td)]
x(n) X (e?) 39 b y(n) 39 ¢
3.9 Y(€*) X (e")

1
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3.6 MATLAB DFT

3.6.1 MATLAB

1 fft ifft
X=fft(x, N)
FFT X N DFT N fft X
DFT N 2 fft 2 ifft
2 fft2 ifft2
1 Y=Fft2(X)
X fft2(X) fit(fft(X)’)’ X
X
fft X
2 Y=fft2(X M N)
X X MIN
ifft2 fft2
3 czt Z
y=czt (X, mw,s)
z=alWwN—0:m-1)) z z a
w m a=1 w=exp(j2hi/m)
m = length(x) y = czt(X) y = fft(x)
4 dct idct
y=dct (X, N)
N length(x)

Y(K):izx(n)cos(z—’:]k(znu)) k=0 1 L N-1

5 fftsfift
Y= f tshift(X)

X = fft(x) X X
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N

6 fftfilt
y=fftfilt(b,x)

FFT X y b FIR
h(n)=b(n+l) n=0 1 L length(b)-1

y=fftfilt(b, x,N)

FFT NF = 2”nextpow2(N) X M = NF-ength(b)+1
nextpow?2(N)

27 (next pow2(N)-1)< N < 27next pow2( N)

fftfilt FFT NF X M

3.6.2 MATLAB DFT

3.4
x(n) = 0.8"Rg(n) MATLAB x(n)  x(n—-m) x((N))sRn(n)  x((n—

m))sRn (N) N=24 0<m<N x((n))s x(n) 8

N=24; MF8; mF3; % 3

n=0: N-1;

x1=0. 8. *n; x2=[ (n>=0) & n<M ] ;

xn=x1. X2; % x(n)

[ xm nm =sigshift(xn,n,m; % x(n-m

xc=xn(mod(n, 8) +1); % x(n) , 1 MATLAB

xcmexn( nod(n-m 8) +1) ; % x(n)

subplot(2,2,1);stem(n,xn,’.");axis([0,length(n),0,1]);title(’ x(n)")
subplot(2,2,2);stem{nmxm’.");axis([0,length(nm,0,1]);title(’ x(n-m"’)
subplot(2,2,3);stem(n,xc,’.’);axis([0,length(n),0,1]);title(’ x((n)

)
subpl ot (2,2,4);stem(n,xcm’.");axis([0,length(n),0,1]);title(’ x(n)

)

3.10
35

x(n) = €8"Ry (n)
%, () :cos<§n)RN(n)



3 75
x(n) x(n—m)
1 1
0.8 0.8
0.6 0.6
0.4 ‘ 0.4
0.2 H 0.2 H]
0 ] 0 I
0 5 10 15 20 0 5 10 15 20
x(m) R HAAE R . x(MEF AL
0.8 0.8
o A
ot 11 I, Wl 4 oo e s T
0.2 1 0.2 ]
TR TR
0 5 10 15 20 0 5 10 15 20
3.10
N=16 N=8 DFT N
DFT
N=16; N1=8;
n=0: N-1; k=0: N1-1;
x1ln=exp(j Cpi (h/ 8); % x1(n)

X1k=fft(x1n, N);
X2k=f ft(x1n, N1);
x2n=cos( pi [h/ 8);
X3k=fft(x2n, N);
Xak=fft(x2n, N1);

Subpl ot (2, 2, 1) ; stem(n, abs(X1k),' .’

title(’16 DFT[ x1(n)]")

Subpl ot (2, 2, 2); stem(n, abs(X3k),’ .’

title(’16 DFT[ x2(n)]")

Subpl ot (2, 2, 3) ; stenm(k, abs(X2k), " .’

title(’8 DFT[ x1(n)]")

Subpl ot ( 2, 2, 4) ; stem(k, abs(X4k),’ .’

title(’8 DFT[ x2(n)1")
311
N
k)
%, (n) e cos(g n)

%
%
%
%
%

N DFT[x1(n)]
N1 DFT[x1(n)]
x2(n)

N DFT[x2(n)]
N1 DFT[x2(n)]

;axis([0, 20,0, 20]);

;axis([0, 20,0, 20]);

;axis([0, 20,0, 20]);

;axis([0, 20,0, 20]);

XK x(n) N
X (k) = XEK)R, (K)

X () %(n)

yl abel (" | X1(k)|")
yl abel (" | X2(k)|")
yl abel (" | X1(k)|")

ylabel (" | X2(k)| ")

N =16 % (n)
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311 “ 16 DFT[x:(n)]”
311  “ 16  DFT[x(n)]" N=8  x(n) x(n) e’
T
COS(E n) x(n)  x(n)
N=16
16 Fiy DFT[x (n)] 16 f i) DFT[xy(n)]
20 20
15 ] 15
= :
< 10 310
[l )
5 5 | I
0 - 0
0 5 10 15 20 0 5 10 15 20
8 4fY DFT[x(m)] 8 LY DFT[xy(n)]
20 20
= L
= 10 X 10
51 N 5
o111l O"[TTTTT'[
0 5 10 15 20 0 5 10 15 20
3.1
3.6 N DFT
: 1-g 4@
X(N)=Rq(n)  X(e"’) =DFT[x(n)] = =
1-¢e%
N=8 N=16 DFT
N1=8; N2=16; % FFT
n=0: N1-1; k1=0: N1-1; k2=0: N2-1;
w=2[pi [{ 0: 2047)/ 2048;
Xw=(1-exp(-j0y))./( 1-exp(-jn));
% x(n) 2048
xn=[ (n>=0) &(n<4)]; %  x(n)
X1k=ff t (xn, N1): % N1=8  X(k)
X2k=fft (xn, N2); %  N2=16 Xo( k)

subpl ot (3,2,1); plot(w pi,abs(Xw));xlabel ("W =)

subpl ot (3, 2, 2); pl ot (W pi, angl e(Xw));axis([0,2,-pi,pi]);line([0,2],[0,0]);
x|l abel ("w n")

subpl ot (3, 2, 3); sten(kl, abs(X1k)," .");
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x| abel (" k(w=2mk/N1)");ylabel ("| X1(k)|");hold on

pl ot (N1/ 20 pi , abs(Xw)) %

subpl ot (3, 2, 4); stem k1, angl e( X1k));
axis([O,NL,-pi,pi]);line([O0,N1],[0,0]);

xl abel (" k(w=27k/N1)') ;ylabel (" Arg[ X1(k)]’); hold on
pl ot (N1/ 20M pi , angl e( Xw)) %

subpl ot (3, 2,5); stem k2, abs(X2k),".");

xl abel (" k(w=27k/ N2)");ylabel (| X2(k)|’);hold on

pl ot (N2/ 20 pi , abs( Xw) )

subpl ot (3, 2, 6); stem k2, angl e(X2k),".");
axis([0,N2,-pi,pi]);line([0,N2],[0,0]);

xl abel (" k(w=27k/ N2)") ;ylabel (" Arg[ X2(k)]’'); hold on
pl ot (N2/ 20M pi , angl e( Xw) )

3.12

*RIEANLL ORI LS
) \
|

RN ST ' ~
VNS N hy .
0 0.5 1 L5 2 0 0.5 1 L5 2
N1 Al DFTGm)1=X,04 Xtk

L

NN

VANZVAE IR

0 8 0 0.5 1 15 2
Ny A48y DFTx(n)]=Xa(h) X |
) ﬁ\
_ 0 [~ h\
[ 1] \‘\l\ll =~
HIVOAYOAY I
0 5 10 15 20 0 5 10 15
312
x(n N DFT X(@E“) [0 27
N 3.12 X(K)  X(€?)
3.7
1 x(n) M =40

2 N=64  X(k) = DFT[x(n)] x(n)  X(K)



MATLAB

3 XK [0 24 32 X(K) = X(2k) k=0 1 31
4 XK 32 IDFT  x(n) = IDFT[Xu(K)]
5 X1(())s2 x1((N)s2  X(n)

M=40; N=64; n=0: M
xa=[0:floor (M 2)]; xb=ceil (M 2)-1:-1:0;

xn=[ xa, xb] % M=40 x(n)

Xk=fft(xn, 64); % X(k) =DFT[ x(n)]

X1k=Xk( 1: 2: N) % X(k) X1( k)

x1n=i f ft ( X1k, 32); % x1(n) =1 DFT[ X1(k)]

nc=0: 40N 2; % 129

xc=x1n(nod(nc, N 2) +1); % x1(n) N2

subplot(3,2,1);stem(n,xn,’.");ylabel (’x(n)");title(’40

x(n)")

subpl ot (3, 2, 2); k1=0: N-1; stem(kl, abs(Xk),’ . );ylabel (" | X(k)|");title(’ 64
DFT[x(n)]1")

subpl ot (3, 2, 3); k2=0: N/ 2-1; stem( k2, abs( X1k), .’ );ylabel (" | x1(k)]|’);
title(’ X(Kk) X1(k) ")
subplot(3,2,4);nl1=0: N 2-1;stem(nl, x1n,’.");ylabel (" x1(n)');title(’ 32
I DFT[ X2( k)] =x1(n)")

subpl ot (3,2,5);stem(nc,xc,’.");ylabel ("x1((n))32");title(’ x1(n)

)
3.13
3.13 [0 24 N=232 x(n) M =40
X1(K) x(n) N=M
X1(K) x(n)  x(n) = DFT[Xy(K)]
3.8
X(n) =sin(0.4n)Rs(n)
h(n) = 0.9"Ry(n)
3.14

M=15; N=20; nx=1: 15; nh=1: 20;

xn=si n( 0. 4Chx) ; hn=0. 9. *nh;

L=pow2( next pow2( MtN- 1)) ;

Xk=fft(xn,L);

Hk= fft(hn,L);

Yk=Xk. [Hk;

yn=i fft(Yk,L);ny=1:L
subplot(3,1,1);stem(nx,xn,’.");title(’x(n)");

subplot (3,1, 2);stem(nh, hn,”.");title(’ h(n)’);

subplot (3,1, 3);stem(ny,real (yn),’.");title(’y(n)’);



40 SHIZA BT x(n) 64 S DFT[x(n)]
20 : : 400 . . .
15 300
= <
S < 200
5 [ ] 100 [ +
0 hi T I 1 1 I T hi 0 a1, b
0 10 20 30 40 0 10 20 30 40
P S A XD Xi(n) 32 5/ IDFT[Xy(k)]=x:(n)
400 - - - 25 - : -
300} 20
S = 15}
~ ZUU 1
= = 10}
100 '1 1 5 L
) 10 30 40 i) 10 20 30 40
. xl(n)H’J)—JHﬁLTEf“ﬁlJ

3.13
RN FFT
L y(n)
S
IDFT
DO e
3.14
3.15
FFT L L = N+M-1 y(n) x(n)  h(n)
conv MATLAB
N M
39 DFT
X, (t) = cos(200rt) + sin(1007t) + cos(50Tt) DFT X, (t)

Tp

1 fo=400Hz T = L/,
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2 X(n) = Xa(NT)w(n)  w(n)
w(n) =Ry (n) Hamming hamming N  Hamming
wn
x(n)
1 ; .
11 ] | 1
| J 1 |
1 5 ] 0 15
()
1 T T T T T T T T T
0.5F ‘ ‘ -
. H]H1HTTTTT'
0 2 4 6 8 10 12 14 16 18 20
¥(n)
4 ] T T T T T T
2_ -
) J”H HT
T[T
20 0 20 30 20 50 50 70
3.15 x(n) h(n)
3 X(n) 2048 DFT X, (t) Xa(j ) N N
=fsTp Tp 0.04s 4x0.04s 8x0.04s

clear;close all

f s=400; T=1/f s; %
Tp=0. 04; N=TpF s; % N
N1=[ N, 4[N, 8N ; %
for nme1: 3
n=1:N1(m;

xn=cos(200Cpi [hT) + si n(100Cpi ChT) + cos(500pi ChI);
Xk=fft(xn, 4096);

f k=[ 0: 4095] / 4096/ T,;

subpl ot (3, 2, 20m 1) ; pl ot (f k, abs(Xk)/ max(abs(Xk)));

if me=1 title(’ "); end

end

%hami ng

for nF1:3
n=1: N1(m;



wn=harmm ng(N1(m);
xn=cos(2000Cpi [hT) + si n(100Cpi ChT) + cos(50Cpi Chm) . O’ ;
Xk=fft(xn, 4096);

f k=[ 0: 4095] / 4096/ T;

subpl ot (3, 2, 2007 ; pl ot (f k, abs( Xk) / max(abs(Xk)));

if me=1 title(’hanm ng ");end
end
3.16
B EEE hamming % #{HY
1 1
0.5 /\/\/\ﬂ v\ 0.5
AR T
0 IR I O 0 LI L
0 100 200 300 400 0 100 200 300 400

0 100 200 300 400

TR

0 100 200 300 400

3.16 N 4N 8N

N(Tp
0.04s) 25Hz  50Hz

hamming hamming
hamming

3.10
x(n) = cos(0.48mm) + cos(0.52mm)
1 0<n<9 X1(K)
2 Q) x(n) 0<n<99 Xa(K)
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3 0<n<99  Xa(k)

N1=10; n1=0: N1- 1; x1=cos( 0. 48[pi [hl) +cos(0. 52[pi (hl);

Xk1=fft(x1, 10);

k1=0: N1-1; wl=2[pi / 10Ck1;

subplot(3,2,1);stem(nl, x1,’.");axis([0,10,-2.5,2.5]);title(’ x(n), 0<=

n<=9")

subpl ot (3, 2, 2); stem(wl/ pi,abs(Xkl),’ . );axis([0,1,0,10]);title(’ DFT[x(n)]")

N2=100; n2=0: N2- 1; x2=[ x1(1: 1: 10) zeros(1,90)];

Xk2=f ft (x2, N2)

k2=0: N2- 1; w2=2[pi / 100[k2;

subplot (3, 2, 3);stem(n2,x2,’.");axis([0,100,-2.5,2.5]);title(’ x(n)
N=100")

subpl ot (3, 2, 4); pl ot (W2/ pi , abs(Xk2));axis([0,1,0,10]);title(’ DFT[x(n)]")

N3=100; n3=0: N3- 1; x3=cos( 0. 48[pi [(h3) +cos(0. 52[pi [h3);

Xk3=f ft (x3, N3)

k3=0: N3- 1; w3=2[pi / 100k 3;

subpl ot (3,2,5);stem(n3,x3,".");axis([0,100,-2.5,2.5]);title(’ x(n),

0<=n<=99’)

subpl ot (3, 2,6);pl ot (wW3/pi,abs(Xk3),’.");axis([0,1,0,60]);title(’ DFT[x(n)]")

3.17
25 x(n) 0<=n<=9 o DFT[x(n)]
| L]
1 L
6 L
O - -
‘ ‘ 4 |
—1f _
2¢
2" . . . . B 0
0 2 4 6 8 10 0 0.2 0.4 0.6 0.8 1
&5 xmHFEREH N=100 10 DFT[x(n)]
2 L
| |
1 L
6 L
0
4 L
o J ‘
2 L
-2 . . . . B . . . .
0 20 40 60 80 00 % 0.2 0.4 0.6 0.8 1
1EE x(n) 0<=n<=99 DFT[x(n)]

N

T
I Ll

0 20 40 60 80 00 0 00 04 o6 08 1
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3.17

3.17 x(n) 0=n<9
X(n) 90 N =100

N =100

DFT

X(K)

X(K)

X(K)

x(n)



FFT DFT DFT
DFT
DFT N N DFT NxN
N(N -1) 1965 J.W.Cooley JW.Tukey
Wy DFT
FFT DFT
4.1 DFT
4.1.1 DFT
N x(n) DFT
X(k)zilx(n)wN“k k=0 1 L N-1 4.1
IDFT
_iN_l -nk — _
x(n) = N%X(k)WN n=0 1 L N-1 42
W, 1N 4.1 4.2
DFT 4.1
x(n) WK X (k) X (k) N
x(n) W N-1 X (k) N k O~N-1
DFT N? N(N -1) x(n)
WK
x(n) = Re[x(n)] + jIm[x(n)] 43
Wi = Re[jWi* B+ jIm AV 4.4
4.1
XK= WNTK=N_1 R Re Vi E-1 Im v«
®) n;x(n) Z {( e[ x()] Re e - Im[ x(m)] Im fvi¥ ) .

+j(Re[X(n)] Im v+ Im[ x(n)] Re v« 9}

45



= MATLAB
X (k) 4N
2N+2(N-D)=2(2N -1 - w
N X2(2N —l) = 2N(2N _1) -
v " DFT
4.1.2 DFT
Wnk
N
l\rl]k)Dz\N,\Ink
WNnk =W|\(1n+N)k =W,\T(k+N)
W'\T(N—k) =W'\(IN—n)k =W,\]"k
27
W2 =e N2=-1
Dk+ﬁEI
w2t g
Wy DFT
! W DFT
45

Re[x(n)] Re[W* B+ Re[x(N —n)| Re %MN_")“ E:{ Re[x(n)] + Re[x(N - n)]} Re v«
Im[x(n)] Im B B Im[ (N = n)] Im @'V,SN'”)“ H=

2 Wr\Tk
DFT N 2
DFT DET
Decimation-In-Frequency DIE

4.2

4.2.1

X( n) N 2

DFT
N DFT

DFT

Decimation-In-Time DIT

2 FFT

B
_{|m[x(n)] - |m[X(N - n)]} Im Hvr::k

B

4.6



M N
N 2 FFT DIT -2FFT
x(n) n
gen) =x(1) r=0 1 L N1 4.7
(2 +2) = %(1) 2
4.1
[ ] i k I\ZZ_:L k '\iz_l k
X (k) =DFT|x(n)| =S x(nWg* = X(NW™ + X(N)Wy
N, Ny
2
Z X(2r)W2 + Z X(2r + LWLk
, T
e rk k2 rk
X (r) (W)™ + W sz(r)(WN
.27
LT
W'\f: "N =e BEB: N
2
N -1 N -1
X(k) = Z Xl(r)er W Z) X (MW = X, (K) + Wy X, (K) 4.8
= 2
X, (k) X, (k) x(r) x2(r) N/2 DFT
N N 1
X, (k) = xl(r)W’k X(2r )Wyt
3 5 xenw;
N N 49
-1
X, (K) = x2(r)er x(2r + W
3 5
N DFT N/2 DFT N/2 DFT
4.8 N DFT x(r) %) Xk X, (k) N/2
rok r k=0 1 L N/2-1  X(K) N 48
X(k)k=0 1 L N-I X, (k) X,(k)
X (k) W

(T
we w2

2 2

A

N
DN 0 2 rﬁg+kﬁ E_l K
XO-+kF ) x(OW, =) %W,
H2 H_Z > Za 5



86 MATLAB
ON ., O
X, 6=+ k= X, (k 4.10
1y KB 1(K)
ON . O
X, BE+ kH: X, (K) 411
4.10 4.11 k N/2<sksN-1 X, (k) X,(K)
k 0<ksN/2-1 X, (K) X, (k)
Wo
ON D N
w2 Bawz v = -wy 4.12
4.10 411 412 4.8 X (k)
X (K) = X, (K) + WX, (K), k=0 1 L %—1 4.13
ON O ETH
X +k= +k Wy X +k
Mg g »
= X, (K) WX, (k), k=0 1 L %—1
[0 N/2-1] k X, (k) X,(K)
[0 N-1] X (K) FFT
413 4.14 4.1
41 b 41 a
1
A<, (KW H G0+ X (W X, (K) = X, (KW E N =8
4.2 x(n)
N
x(2r) =x(r) X(2r +2) = %, (r) r=0 1 2 L E_l

%0 =x(0) x@D=x(2) x()=x(4) x(3=x(®)

%0 =x1) xO=x@ x()=x®) x)=x(7)
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% (r)

X, (k)Y + Wi X, (k)

Wy
Xy =Wy X, (k)

X(5)
\ X(6)
X(7)

DFT N=8

=0 1 2 L E—1
4

4
X,(k) X, (k)Y + Wi X, (k) X,(k)
Wy
X, (k) 1 X (- X, (k) X, (k)
a
4.1
%(0)=x(0) ——
N/2 &
nM=x2) °
x(2)=x(4) ° DFT
%(3) = x(6)
x(0)=x()
N/2 &
xH=x3) T |
X,2)/ Wi
%(2) = x(5) DFT
X,3),/ Wy
%(3)=x(7)
4.2 N DFT 2 N/2
N/2 N/4
% (20) =x5(1) X (2 +1) =x,(1)
%(0) =% (0) =x(0)  %5(1) =x(2) =x(4)
%0)=x0)=x(2) x,0=x(3)=x(6)
%, (r)
%, (2) = x5(1) X (2 +1) = x(1)

%5(0) =%,(0) = x(I)

%5(0) =% (D) =x(3)

=0 1 2 L

Ny
4

%) =x%(2) = x(5)

% (1) =%, (3) = x(7)
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88
Z (I)Wlk

N_

X (k) - Z X:L(ZI)WZIK z X]_(2| +1) W (21+1)k z X3(|)W|k Ek
k=0 1 L E—1
4

= X4 (K) Wy X, (K)
2
ON . O N
X, + k= X5 (k) ~WE X, (k k=0 1 L —-1
1BZ H 3(K) N (k) 2
N, N
X (k):zx3(l)w'k X, (K) :ZX (|)w'k
3 N 4 4
= %
4.3 N=8 N/4 DFT N/2 DFT
5(0) = 5,(0) = 5(0) = <0
N/4 5 Yl
x5 =x,(2) = x(4) DUgE P
50)=5,1)=x0) Lo
]\7/4)\1_:7\ N/2 X1(2)
o DET | X4(D
x, () =x,(3) = x(6) Wji'/z X,3)
4.3 N/4 DFT N/2 DFT
X, (K)
X, (K) = X5 (K) +WE X, (k) k=0 1 L %—1
2
ON . O N
X + k= Xg(K) =W X (k k=0 1 L —-1
2BZ H 5(K) N (k) 4
Ny N N, N
4 4 4
Xs(K) =S %, 2OWi = % (W Xs(K) =% x,(2 +1)W'k x6(I)W'k
(0= 2 @ =9 6O Xsll= 5 % Z
Wy =w N=8 DFT 4 N/4 DFT
2
N/4 DFT 2 N/4 DFT N/2 DFT
X,(K) X, (k) 413 4.14 N DFT 4.4
8 FFT 45
decimationintime DIT
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4.2.2

%,(0) = x,(0) = x(0)

X (1) = x,(2) = x(4)

5 (0)= 5D =x(2)

x,(D = x,(3) = x(6)

%5(0) = x,(0) = x()

xs5(1) = x,(5) = x(5)

%(0) = x,(1) = x(3)

%) =x,3)=x(7)

x(0)

x(4)

x(2)

x(6)

x(1)

x(5)

x(3)

x(7)

N/4
DFT

N/4

neKm
L/r 1

N /4
DFT

N/4 A
DFT

4.4 4 N/4

X(0)

XD

X(2)

X(3)

X4

X05)

X(6)

X

X(0)

A\
XX N\
DX

X(2)

Wy

X(3)

\1‘ X(4)

N/ N
X w/ /AN

-1
w >/ N w/

\;X@

FFT

N DFT 2 N/2 DFT

4

T ox

N/4

DFT



90 MATLAB
8 N/8 DFT N/2 2 DFT
M =IbN N DFT M 4.5 N=8 M=4
m=0 m=1 m=2
2
45 41
“ ” m
Xm+1(p) = Xm(p) +Wl\rl Xm(q)%
Xm+1(q) = Xm(p) _W[\rj Xm(q) D
p 9 m p
m+1
N/2
M =1bN M, M,
Mfzﬁle:w
2 2
M, = NIbN = MN
4.5 m P q
q-p=2"
3“
45 N/2
W' m=0 m=1 m=M -1
m N /2™ m=0 1 L M-1
4 w’
4.2 414 N DFT N/2 DFT
45 W' W r=0 1L N/2-1
Wy W, L W'
2 4
m=0 W, r=0
m=1 W, r=0 1
m=2 W, r=0 1 2 3
M
] N
m=M -1 Wy r=0 1 L E—l

WI’



91

4
m Wzrwl r=0 1 L 2"-1
5
45 X (k) x(n)
x(n) N/2 DFT x(n)
0246|1357
0 4|2 6|1 5|3 7
4.5 x(n) N 2
x(n) n=0 1 L N-1 N=8 X(0) L X
x(000) x(001) x(010) x(011) x(100) x(101) x(110) x(111)
x(000) x(100) x(010) x(110) x(001) x(101) x(011) x(111)
X0 x(4) x(2 x(6) x@ x3 x5 x(7)

FFT

4.3 2 FFT

FFT x(n)
DIT X (k) N
DIF
4.3.1
x(n) N=2" M x(n) n
x(n)
Xﬁ"ﬁ%% Osns%—l
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X (k) = :Zx(n)wNnk = nZ XMW + NZ?X(ﬂ)W,L“‘

n=—

S W + 5 xDhe NGy 415
Z» (MW Z ik Z@NN

W e N ¢W 4.15 N/2 DFT
E 2
W = 1w = ()¢
X(k):2§<(n)+(—1)kX§1+%%/\/ﬁk k=0 1 L N-1 416
k (-D*=1 k (-)*=-1 k X (k)
(k=2r

r=0 11 E—1
a<=2r+1 2

N

X(2r)-§g<(n)+xg1+—%wz”‘ Zg(nﬁxg%—%/\/,{,” r=0 1 L E—l 4.17
X(2r+l)—ZET<(n) XEP %/\/(2”1)”

N 4.18
Fis 0 N N
= n)—xXm+— "W r=0 1 L —-1
2, Fm X Z%N“ N 2
4.17 N/2 4.18
W N/2
O N N
n) = x(n) + x — n=0 1 L —-1 4.19
g(n) =x(n) EP o F >
O 0 N N
h(n) = =x(n) - xmM+— " n=0 1 L —-1 4.20
(0= - Z%NN ;

Ny

2 N
X@2r)=3 gnwy r=0 1 L —-1 4.21
Z; 3 2
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Ny
X(2r +1) S h(mW' r=0 1 L Nog 4.22
r = N = = !
%" ;
421 4.22 46 a
N DFT k N/2 DFT 46 b N=8
*© —— X0
) < 7 N/2g T X2
x(n) x(r)+x(n+N/2) x(2) MY DFT | . . X(4)
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4.4
FFT IDFT
IFFT  IDFT
N-1
x(n) = IDFT[ X (K)] :i;) X (KW, ™ 4.23
N &
4.1 4.23 DFT WK W™
1/N DET
IDFT 48 WK
W™ 1 1 1_1 _odf
N 2 N N 2" 2H
% 4.9 IDFT FFT
|FFT x(n) X (k) x(n)
FFT X (k) IFFT
|FFT FFT |FFT |FFT
FFT IDFT IFFT
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4 4 4
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X(0) x(0)
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x“(n) = % NZ: X k)W

- 1 = 0 nkﬁ_ 1 0 o
x(n)_ﬁix (W, E—N{DI—_I'@( (g 4.24
X (K) FFT
1/N x(n)
45 N FFT -
N =2" DIT 2 FFT DIF 2FFT
N # 2"
1 x(n) N 2V
N =28 x(n) X(28) = x(29) = x(30) = x(31) =0 4
N=2°=32 DFT X (€%)
28 32
2 N DFT N
DFT czT
3 N FFT
FFT 2
N
4.5.1
4.1 N x(n) DFT
N-1
X(k):ij(n)WN”k k=0 1 L N-1
N N = pqg n
n=pn +n n=0 1 L qg-1 n=0 1 L p-1 4.25
n Ny n p
o} N=12 p=4 q=3 12 n 3 4
n=6=p+2 1 n =1 2 N =2

n
n=4n +n, n=0 1 2 nn=0 1 2 3 4.26
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k
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N ok ok n k 012 1L N -1
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452
N=6=3x2 4.10 p q
W}S o
x(0) = - X(0)
W,t,) Wy Wwo
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x(3) = 1 XQ)
N N
W, N, 0
(1) X X
>@ K Ko
W g
x(4) N W X(3)
Wi /@\ s
0 / ) 0
*2) il Gy, |y
N /
W/S wlo 5 0
) — B N L ks
N
410 N=6,p=3q=2
4.6 Z
Z
z Chirp z
—CZT
Chirpz
DFT
DFT N
M " ”
46.1 CZT
x(n) 2 z

X(2) = z x(n)z™"

0

n=-oo
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z zL 7z Z
X(2) =CZT[x] = 5 X% = 3 XA W 431
czT AW 6 ¢
430 k=0 z, = A% 4.11 P z
A_) 90 CZT k=1 z = A)WO—leJ(00+¢0) z
AW 6, o k z, z z, L
CZT M-1 Q = ZM 4
Q - Abeigowo—(M—l)ej(M Do 4.32

411 CZT z

411 CzT
1 A>1

2 W,>1 AW, < A
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4  A=W,=1 6,=0 M=N CZT DFT
czT A W,
n=0 1 L N-1 k=0 1 L M-1

X(z)= NZjlx(n)A'”\Nnk

1 2 2 2
nk=5@< +n° —(k-n)°k

4.33
N-1 Ko (kn)?
X(z)= Z)x(n)A‘”\N 2W2W 2
O n?
ém(n) =x(n)A™"W 2
Fhn =w 2
KN K K
X(z)=W?2 Z)g(n)h(k -n) =W 2 By(k)"h(k) =W 2 y(Kk)
N-1 _(k=n)?
y(k) = g(k) Oh(k) = Zg(n)W 2 k=0 1 L M-1
4.33 FFT
4.36 412
x(n) ? g(n) h(n) y(k) ? X(z,)
AannZ/z Wk2/2
412 Chirpz
46.2 CZT
M X(z) 4.36 g(n) h(n)

2

_n
4.35 A=e% Ww=¢gl% h(n)=W 2

1 x(n)

4.33

4.34

4.35

4.36

4.37
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|
o M -1
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MATLAB
fft ifft fft2 ifft2 czt

1 fft ifft

1Y =fft(X)

O M -1

413 Chirpz

MATLAB
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2 Y =fft(X,N)

3 Y =fft(X,[ ],dim)
dim
dim=1
ifft

2 fft2 ifft2

1Y =fft2(X)
X

2 Y=fft2(X M N)

X
ifft2
fftn ifftn

3 czt

X=czt(X M W A
X
A

4.7.2

4.1 x(n)

%

N=256;
fl1=.1;f2=.2;fs=1;
al=5; a2=3;
w=2[pi/fs;

M=N A=1

X NxD

X
Y =fft(X, N, dim)

dim=2
fft

X M xN
fft2

x(n)
CzZT

MATLAB

fft2 X

X dim

fft X
ffe(fft(X) )

1

fft2 ifft2

N M W

DFT

fft

x=allsi n(wd 10 0: N- 1)) +a2lBi n(w¥ 20 0: N-1) ) +randn(1, N) ;

%  FFT
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subplot (2, 2,1);
plot(x(1:N4));
title(’ ");
f=-0.5:1/N:0.5-1/N,;
X=fft(x);
y=i fft(X);
subpl ot (2, 2, 2);
plot(f,fftshift(abs(X)));
title(’ "),
subpl ot (2, 2, 3);
plot(real (x(1:N4)));
title(’ "),
414
FIaEE IE S
10 500
o oo |
! \ 3001
O.
200+
i 100} W
-10 . . . 0
0 20 40 60 30 -0.5 0 0.5
IR fE S
10
5 _ﬂ A N A n n n
| \
O.
sRARRRA
_]0 L N L
0 20 40 60 80
4.14 fft
4.2 Chirp Z h  100Hz~200Hz CcZT

FFT

h=fir1(30, 125/ 500, boxcar (31));
Fs=1000;

f1=100;

f 2=200;

nm=1024;
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w=exp(-j RO O f2-1)/(nlFs));
a=exp(j ROpi O 1/ Fs);

y=fft(h, m;

z=czt (h, mw, a);
fy=(0:length(y)-1)’ [Fs/length(y);
fz=(0:length(z)-1)' OQf2-f1)/1ength(z)+f1;
subplot (2,1, 1)

pl ot (fy(1:500), abs(y(1:500)));
title("fft’);

subpl ot (2, 1, 2)

plot(fz,abs(z));

title('czt’);

4.15
it
1.4
121
|
0.8}
0.6+
0.4}
L\
% S0 100 150 200 250 300 350 400 450 500
1.4 ezt
T N
100 110 120 130 140 150 160 170 180 190 200

415 FFT CZT
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. 1
H(2)
51
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53
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5.2
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5.6 I
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I
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o
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5.8 IIR
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z h(n)
5.3
LTI FIR
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53.1
5.9
N-1
y(n) = Zh(m) x(n—m) 5.10
x(n)
5.9 x(n) h(n)
y(n)
x(n) z! z! z1
HOYY  ADY  AQ2) h(N - 2) A(N -1)
(n)
59 FIR
5.3.2
FIR H(2)
IND
N-1 ) H2H . L
H(2) = Zh(n)z "= I(_l(:BOK +ByZ+ ByZ) 5.11
511 FIR 5.10
B o
x(n) P B o7l »(n)
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z! ﬁZl z! ﬁzz z ﬂ2lEJ
510 FIR N
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1 H(K)
H(z)=@1-z" — 5.12
(2)=( )N S 1-W <zt
1 N-1
H(2=—H_(2)Y H,.(z 5.13
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FIR H(2)
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N 511
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534
N
2N-1 FIR y(n)
x(n) h(n) x(n)
x(n)  h(n) FIR
y(n) FFT x(n)  h(n)
FIR 5.13 L>N+M-1 M x(n) N
h(n)
x(n) LE | X
DFT
i Y(k) 1 i
— T P iy = xny i)
M ™ pEr o0
5.13 FIR
x(n) FIR
54 MATLAB
IR  FIR
MATLAB
54.1 1R MATLAB
1
MATLAB filter IR
5.1
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b=[ 1, -3, 11, 27, 18] ; a=[ 16, 12, 2, - 4, - 1] ;
N=25;

h=i npz(b,a, N; %

x=[ ones(1,5), zeros(1,N-5)]: %
y=filter(b,a, x); %

subplot(1,2,1);sten(h);title(’ h(n)');
subplot (1, 2,2);stemy);title(’ y(n)');
514
HEE h(n) B y(n)
1.2 2.5 p
1r 5l
08t | ?|
15¢
0.6 T
04t ir
021 TT M_T
0 ?I - ?‘?l?wov PP
I 0 led L Poee
-02} !
-0.4 : : -0.5
0 10 20 30 0 10 20
5.14
2
MATLAB casfilter IR
5.2

A1+ 7Y (1-1.414213627" + 272)

H(z
(2 (1-0.52Y)(1+0.92" +0.8127?)

b0=4;B=[1,1,0;1,-1.4142136, 1] ; A=[1,-0.5,0;1,0.9, 0. 81];
N=60;

del t a=i npseq(0, 0, N);

h=casfiltr (b0, B, A delta);

x=[ ones(1,5),zeros(1,N5)];

y=casfilter (b0, B, A x);

subplot(1,2,1);sten(h);title(’ h(n)’);
subplot(1,2,2);stemy);title(’ y(n)');

5.15

30
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SREEAI y( LEER (
T KA h(n) 10 kAl y(n)

5.15
a b dir2cas by B

casfilter IR

5.3
H(2) = 1-3z'+11z° +272° +18z™*
1+16Z7 ' +127° +27° - 47" - 7°
IR

N=25;

Del t a=i npseq(0, 0, N);

b=[1, -3, 11, 27, 18] ;

a=[ 16, 12,2,-4,-1];

[ bO, B, Al =di r 2cas(b, a) ; %
h=casfiltr (b0, B, A delta); %
x=[ ones(1,5),zeros(1,N5)];
y=casfilter (b0, B, A x); %

subplot(1,2,1);sten(h);title(’ h(n)');
subplot (1, 2,2);stemy);title(’ y(n)’);
5.16
LAY h(n) XA y(n)
1.5 2.5
20r -T
1r q
1.5+
0.5} 1r
0.5
0P ?lem
é - O@J)I """'m
-0.5 : : -0.3
0 10 20 30 0 10 20 30
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5
cas2dir
filter IR
5.4
H(2) = 41+ z71)(1-1.4142136271 + 2?)
(1-05z%)(1+0.9z7 +0.81272)
IR

b0=4;B=[1,1,0; 1, -1.4142136,1];A=[1,-0.5,0;1,0.9,0.81];
N=60;

del t a=i npseq(0, 0, N);

x=[ ones(1,5),zeros(1,N5)];

[ b, a] =cas2dir (b0, B, A);

h=filter(b,a,delta); %

y=filter(b,a, x); %

subplot(1,2,1);sten(h);title(’ h(n)');
subplot(1,2,2);stemy);title(’ y(n)');
5.17
HER h(n) BHiEA y(n)
10 10
\ 4
St
D
0
_5 Ly 1 1
0 20 40 60
5.17
3
MATLAB parfiltr IR
55
-14.75-12.90z* 2450+ 26.82z"
H(2) = - 3 +
1--z'+ 7% 1-7'+27°
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C=0 B=[-14.75,-12.90; 24.50, 26.82]; A=[1,-7/8,3/32;1,-1,0.5];

N=60;

del t a=i npseq(0, 0, N);
h=parfiltr(C B, A delta);
x=[ ones(1,5),zeros(1,N5)];
y=parfilter(C B, A X);

subplot(1,2,1);sten(h);title(’ h(n)’);
subplot(1,2,2);stemy);title(’ y(n)');
5.18
IR (n) FHHRAL y(n)
30 100
]0[
0 m' SRR R R A N A SRR P AR I
_]0 F
-20
0 20 40 60 100, 20 40 60
5.18
a b dir2par By Bo A
parfiltr IR
5.6
_a,1 -2 -3 -4
H(z) = 1-3z"+117° + 2727 +18z

IR

b=[1, -3, 11, 27, 18] ; a=[ 16, 12, 2, -4, - 1] ;
N=25;

del t a=i npseq(0, 0, N);

[ C B, Al =di r2par (b, a);

h=parfiltr(C B, A delta);

x=[ ones(1,5),zeros(1,N5)];
y=parfilter(C B, A X);
subplot(1,2,1);stenm(h);title(’
subplot(1,2,2);stemy);title(’

5.19

1+1671+1272+273 474 - 75

h(n)’);
y(n)"),;
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Ls IR h(n) 3 HECA v(n)
1 2L
05r 1t

0 -‘1 ?®T‘!>®¢%ﬁm 0%y, ﬁ?&ﬁoea@aeaeo

-0.5 : . -1 . y
0 10 20 30 0 10 20 30

519

par2dir
filter
5.7
-14.75-12.90z" L 2450+ 26.82z7"
7 3

1--7'+ "z 1-7t+ L2
8 32 2

H(2) =

C=0 B=[-14.75,-12.90; 24.50,26.82];A=[1,-7/8,3/32;1,-1,0.5];
N=60;

del t a=i npseq(0, 0, N);

[b,a] =par2dir(C, B, A);

h=filter(b, a,delta);

x=[ ones(1,5),zeros(1,N5)];

y=filter(b, a, x);

subplot(1,2,1);stem h);title(’ h(n)');
subplot(1,2,2);stemy);title(’ y(n)’);
5.20
HEE h(n) HE y(n)
30 100
]0[
0 m' E{ iy IR
ot |
0| §
0 20 40 60 ~100 20 40 60

5.20
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function [ b0, B, A] =di r 2cas(b, a);
%
%
% [ b0, B, A] =di r 2cas(b, a) ;

% b=

% a=

% b0=

% B= bk K 3
% A= ak K 3
% b0

b0=b( 1) ; b=b/ bO;
a0=a(1);a=al a0;
b0=b0/ a0;
%
M=l engt h( b) ; N=l engt h(a) ;
if N> M

b=[b zeros(1,NM];
elseif M> N

a=[ a zeros(1l, MN)];N=M
el se

NME=0
end
%

K=fl oor (N 2) ; B=zeros(K, 3); A=zeros(K, 3);

i f KR2==N
b=[b 0];
a=[a 0];
end
%
br oot s=cpl xpai r(roots(b));
ar oot s=cpl xpair(roots(a));
for i=1:2:2 OK
Brow=broots(i:1:i+1,:);
Br ow=r eal (pol y(Brow));
B(fix((i+1)/2),:)=Brow
Arow=aroots(i:1:i+1,:);
Ar ow=r eal (pol y(Arow));
A(fix((i+1)/2),:)=Arow,
end

b0/a0

a0#1
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B(2 A2 cplxpair
poly

function y=casfiltr (b0, B, A x);

%I1IR FIR

%

% y=casfiltr(bO0, B, A x);
% y=

% b0=

% B= bk K 3

% A= ak K 3

% x=

%
[K, L] =size(B);
N=I engt h(x) ;
w=zer os(K+1, N) ;
w1, ) =x;
for i=1:1:K
wii+l,:)=filter B i,: ,A(i,:),wi,:)
end
y=b0 O WK+1,:);

function [b, a] =cas2dir (b0, B, A);
%
%
% [ b, a] =cas2dir (b0, B, A)

% b=
% a=
% b0=
% B= bk K 3
% A= ak K 3

%

[ K, L] =size(B);

b=[1];

a=[1];

for i=1:K
b=conv(b, B(i,:));
a=conv(a, A(i,:));

end

b=b[bO;

function y=parfiltr(C, B, A Xx);
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%I11R

%

% [y]=parfiltr(C, B, A Xx);
% y=

%= M=N (FIR
9vB= bk K 2
VA= ak K 3
% x=

%

[ K, L] =si ze(B);
N=l engt h( x) ;

w=zer os(K+1, N);

w1, :)=filter(C 1,x);

for i=1:1:K
w(i+1,:)=filter(B(i,:),A(i,:),x);

end

y=sum(w);

function[C, B, Al =di r 2par (b, a)
%
%
% [ C, B, A] =di r 2par (b, a)

% C= | ength(b)>=l ength(a)

% B= bk K 2
% A= ak K 3
% b=

% a=

%

Mel engt h(b) ; N=l engt h(a);
[r1,pl, Cl=residuez(b,a);
p=cpl xpai r (pl, 10000000CEps) ;
I =cpl xconp(pl, p);

r=ri(l);

K=fl oor (N 2) ; B=zeros(K, 2); A=zeros(K, 3);
if KR == N % A2

for i =1:2:N-2

Brow=r(i:1:i+1,:);
Arow=p(i:1:i+1,:);
[ Brow, Arow] =r esi duez(Brow, Arow, []);
B(fix(i+1)/2),:) =real (Brow);
A(fix(i+1)/2),:) =real (Arow);

end
[ Brow, Arow] =resi duez(r(N-1),p(N1),[1);
B(K,:)=[real (Browj)O0]; A(k, :)=[real (arow)0];
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el se
for i=1:2:N-1
Brow=r(i:1:i+1,:);
Arow=p(i:1:i+1,:);
[ Brow, Arow] =r esi duez(Brow, Arow, []);
B(fix((i+1)/2),:)=real (Brow);
A(fix((i+1)/2),:)=real (Arow);

end

end

dir2par z residuez -
- - MATLAB cplxpair

cplxcomp

function |=cpl xconp(pl, p2)
% | =cpl xconp(pl, p2)
%
% CPLXPAI R
%
% P2=CPLXPAI R P1
%
I=[1;
for j=1:1:1ength(p2)
for i=1:1:1ength(pl)
i f(abs(pl(i)-p2(j))<0.0001)
I=(1,i);
end
end
end
=l

- dir2par residuez
parfiltr parfiltr

B A filter
FIRC w

par2dir
residuez
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function [b,a] =par2dir(C, B, A);
%
%
% [ b, a] =par 2di r (C, B, A)

% b=
% a=
% C=
% B= bk K 2
% A= ak K 3

%
[K, L] =size(A);R=[];p=[1]:

for i=1:1:K

[r,p, k]l =residuez(B(i,:),A(i,:));
R=[Rr]; P=[P; p];

end

[ b, a] =residuez(R P, O);

b=b(:) i a=a(:)i;

5.4.2 FIR MATLAB

FIR
H(2) =h +bz™ +L +b, 7™
FIR {b} b MATLAB
1 filter

FIR

H(2)=h, l:! 1+B, 12_1 +B, 22_2)

FIR casfiltr IR
dir2cas a 1 cas2dir
58 FIR
0.2" 0<n<5
H(2) =0
/0

n=0:5;
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b=0. 2. *n;

N=30;

del t a=i npseq(0, 0, N);
h=filter(b, 1, delta);

x=[ ones(1,5),zeros(1,N5)];
y=flter(b, 1, x);

suplot(2,2,1);stem h);title(’ h(n)’');
suplot(2,2,2);stemy);title(’ y(n)');

[ bO, B, Al =di r2cas(b, 1) ;
h=casfiltr (b0, B, A delta);
y=casfiltr (b0, B, A Xx);

suplot(2,2,3);stemh);title(’ h(n)');
suplot(2,2,4);stemy);title(’ y(n)');

5.21
B h(n)

051

1%%ﬁﬁaﬁﬁﬁaﬁ&%%

0 10 20 30
FIRAY h(n)

<D

521
3
FIR H (k)
u
H( =22 %ZZIH(lek(zw
B
N L=(M-1/2

N L=M/2-1

0.5

B y(n)
----- ?m
0 10 20 30
LRI y(n)

W

ON [

Ho o

1-71

1+ 7t 0
=

512
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cos[OH (k)] - 2 cos@jH (k) —ZS‘E
H(2) = kO
1-2z" cosBW B+ z?
h(n) H (k) dir2fs
59  h(m={1 2 3 2 3/9 FIR

h=[1, 2,3, 2,1]/9;
[C B, Al =dir2fs(h);

C=
0.5818
0. 0849
1. 0000
B=
- 0. 8090 0. 8090
0. 3090 -0. 3090
A=
1. 0000 -0.6180 1. 0000
1. 0000 1. 6180 1. 0000
1. 0000 -1. 0000 0
FIR
H(9) =122 Hhsg1gx 0809+ 080977 | gy, 0309030927 | 1 [
0 1-0.618z" +z 1+0618z"+z° 1-z

function[C, B, Al =di r 2f s(h)
%=
B=
%A=
%=FI R
M=l engt h(h);
H=fft(h, M;
magH=abs( H) ; phaH=angl e(H) ;
i f(M==20 1| oor (M 2))
L=M 2-1;
Al=[1,-1,0;1,1,0];
Cl=[real (H(1)),real (H(L+2))]:
el ae
L=(M1)/2;
Al=[1,-1,0];
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Cl=[real (H(1))];
end
k=[1:L]";
B=zeros(L, 2); A=ones(L, 3);
A(1: L, 2)=-2[tos(2pi k/M; A=[ A, A1];
B(1:L,1)=cos(phaH(2:L+1));

B(1:L,2)=cos(phaH(2: L+1)-(2pi [(k/ M) ;

C=[ 20mgH(2: L+1),C1] " ;
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FIR

6.1 IR

6.1.1
61 a IH.(1Q)]

1-8,< |H, (@) <1

| F.(i02)| |H.(G)

1
1/J1+&°

1/4

6.1

a, =-20lg(1-9,)
« =—201g(d,)

a
e A 6.1 b

o oO. € A

e=H1-8,)° 15"
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k:&
'Qst
d k
IH, (iQ) [
IH,(iQ2)F=H,(1Q)H(iQ)
h(t) H(jQ)
HY(j2)=H (-jQ)
IH,(1Q2) F=H, (12)H, (-] 2) =H, (9H (-9)| =0 6.1
H,(s) S H, (1Q)
2 Butterworth
Butterworth
. 1
IH, (jQ) f=———— 6.2
1+E£§
0.0
N Q, =0,
. 1
H,(jQ) ==
|H,(19Q)| >
|H (J_Q)|:i 0, :20|9|M|:3d8
¢ N H,(j2)
Q. 3dB
. Q=0 |H,(jo)f=1 Q=0
- =0 |Hq<jf29|2:§ |H (jQ)F0.707  &,=-20Ig|H,(j2)[F3dB ¢
N —-3dB 3dB
3dB
. Q<Q, IH, (i) F N
Q=0 [Hy (j2) Fomo 2N-1

Q 0 Q. |H,(Q)F N

C
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. Q>0, [H,(j2)? Q
Q/Q.>1 N
4, =-20Ig|H,(jRJ)|
6.2 6.2
. 1
Hy () H, (=5) =|H, (j2) IZQ; 3
j Os ﬁ
1+0g—0
02.0
|H(i2)|
1.0
1 —\  N=2
\/5 N=4
N=8
0
Q0. 0
6.2
S= oo Z

" H,(sH,(-s) 2N
01, 2k-1]

SK=(—12N(jQJ=QCe’BE+W§‘ k=1 2 L 2N

H, (9)H, (-9) H, (s)
QN
Hq(s) =t
ﬂ(s—sK)
Q. lrad/s
1
Ho(9) =
(9 s +as" T +L +a,,s +a,
6.1 6.6
1 k d
2 N
N> 9d
Igk
3 3dB Q. 0,
1 1

QJ1-5)?-1N<Q <Q[52-1 N

6.1
f,=6kHz f,=10kHz J,=4,=0.1

6.3

6.4

6.5

6.6
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6-1 1<N<8
N & & 4 a a5 8 a 3
1 | 1.0000
2 1.4142 1.0000
3 | 2.0000 2.0000 1.0000
4 | 26131 3.4142 2.6131 1.0000
5 3.2361 5.2361 5.2361 3.2361 1.0000
6 | 3.8637 7.4641 9.1416 7.4641 3.8637 1.0000
7 4.4940 10.0978 14.5918 14.5918 10.0978 4.4940 1.0000
8 | 5.1258 13.1371 21.8462 25.6884 21.8642 13.1372 5.1258 1.0000
—oy2-10? f
d= o (?pz) 1D =00487 k=—L=-£=06
E 55 -1 E s fs
N = lgd _ 5.92
Igk
N=6
-1 -1
fl@-9,)% -1 N =6770 f[5,2-1] 2N =6819
6770< f, <6819
6.6
_ 1
Hq (s)= 6 5 4 3 2
s° +3.8637s° + 7.4641s" +9.1416s° + 7.4641s” + 3.8637s +1
ss/Q, Q. 1
3 Chebyshev |
IH, (j2) = oD 6.7
1+ T2 0=
"B2.0
oo C
TeO-LC
" B.C
-1
<
T, = Ftos(N cos™ x) X <1 68

T (0 = 2XT () = Tu (X)

gtosh(N cosh™x) [x>1

T,(x)=1 T,(X)=x

k=1
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Ha<s):Ha(0)ﬂ;—SK

N H,(0=@1-£5)"* N H,(0)=1
Q, Q 9, O £
|
1 k d
2
cosh‘l%E
cosh” 1@%@
3
Gy(8) =Hy(IH, (-9 = —
,,0s O
l+£T
2,7
e=[(1-0,)7 -1]"? N G(s) s H.(s)
6.2 | 6.1
d=0.0487, k=0.6
cosh'1%§
N > =3.38
cosh'1D1D
B H

N=4
1
£=[(1-9,)%-1]? =0.4843
T,(X) = 4x° - 4x

0 Dgﬁ 0

e e e -

|Ha (120 P=

[N

1
Do O
1+375270% ﬁ

p

if
E—l

o

il

6.1.2 IR



6 133
S z
S z H.(s)
H(2) S z
« H(2 H,(s) S e z
ejw
. H,(s) H(2) S
z 6.3
Im= Ims s
z A e
T 276‘4/— :LQ
[T
®
{ T _ “
\/ Rez 0 Res
/
wi EAFE |
6.3 s z
6.2
6.2.1
h(n)
h,(t) h(n) h, (t)
h(n) =h,(nT) 6.9
T
z
1 g .2m C
H(?)| «==Y H.rs-j=k 6.10
e Tk:z—oo EF T E
S z S
z z=¢" 6.4
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102 jlmz
3n/T
-0 ___-/—\
: ."-."-."-. ]
G0 ’ Rez
| BT
s P z M|
6.4
6.4 S 21T z
z s iQ
21T z
H.(s) H(2)
! p _1T — 6.11
s+a 1-¢e?¥sz
s s=-a z z=¢e "
6.2.2
6.10
; 12 0Q-2m, O
H(E?)== H k 6.12
(€% Tk:Zw aHI T E
[-QJ2 0J2]
6.3
2 1 1
H._(s) = = -
(9 ?+4s+3 s+1 s+3
IR
Ha(s) S_L:_l SZ=_3
6.11

H (2)= 11 z7ieT -e™)
1-z7%" 1-7%T 1-7Y e +e)+ 7%
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=1
H (2=
2 1-0.41777* +0.01831z2
H,(j2)
H(Q)=— -
(12) (3-02%+j4Q
H(e") = ] iz
1-0.4177€7° +0.01831e /2¢
[H, (i) [H(E?)] 6.5 H(e")
| Fo(i02)|
) .
|HE"™)
. . .
6.5
6.2.3
6.3
6.3.1
IR

IR

6.6
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G LN TR FELRL Y e
B O=g(®) Wi
| B IS
' T 77 Ik
B AR FELFDL 3 g
H(z2) s=1(2) H(s)
6.6
Z S S
Z
1-71
s=1( 1+z7*
s=jQ z=¢€“ 6.13
Q=g(w)= tan(%) 6.14
6.14
1
2 6.14
3 - Ha(s)
4 6.13
H(2) = Hy(8)]eer ) = Ha(F (2) 6.15
H (w) = H,(Q2)| 040 = Ha(9(w)) 6.16
6.3.2
6.4 f, =100Hz
fg =300Hz a,=3dB a,=20dB F, =100Hz
w 21m F w, =21, /F,=02n  w, =21f,/F
=0.61t
1 6.14

Q =tan

p

2

ﬂ) —0.3249

Q =tan (%) =1.37638
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G(p)

6.4

Hqy(Z2) z

N

G(Z™

2

G(s) =G(p)

H(2) =G(9)

G(9)

a, =-20lg(1-4,) ay =-20lg(J)

3
20 =

1-5,=10 ® =0.70795 J,=0.1

1

1-0.)2% -1 Q f
d= E-I(—)D -010027 k=_p='p_1

EJ E Q, fy 3

lgd _
gk
a =14142 a,=1

N=—=—=209

1

G(P) = Sria1a2p4

_ 0.3249”
$2+0.4595s5+0.3249°

615  H(2)

_ 0.06745+0.1349771+0.06745z2
=217 1114371404208

=S

H (2
H4(2) H (2)

7'=GZY

Hy(2)=H.(2)

71zt

6.17

6.18
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. Z ‘
. GEZY z"
H, (2)
H4(2)
6.4.1 o
HL(ejg) Hd(ejw) o
Tt w 0 "
-1 _
oz - Z al 6.19
1-azZ
6.19
z=1-,272=1
i 6.20
z=¢e% z7=¢%* 6.19
sinEHC g
a =M 6.21
sin[gc +w, O
Hz2 H
6.19 6.21
H (2) 6, e
a)c
6.22
Hd(Z) = HL(Z) Z’1=2717_L7
1-qz71
6.4.2 o
180° z _Z
6.18 z% -z7
Z
— _l—
L ? 6.23
1+az
6.23
Z :1 - Z = _1
et 6.24
z=g% z=gle o2
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a :—ZH 6.25

6.4.3 —

w (- m (0 2m

I Z?+dz7"+d,

- - 6.26
d,z2+d,z " +1

6.26
z=e% 7=
z=¢e% , 7=¢»

z=1. Z=¢"4 6.27

z=¢% 7= z=¢% 7= 6.27
_ Lo, +a [ [, — @)
_ ZCOSBTHCOSBTH
.0 0w, -w 0
l+COtHE§anBTH

l—coté%ﬁan&)z_wlD
6.28
1+cotB»§anEw2 wlD

d, =

g
¥

cosw, = 6.29

Cos

£

|

RS
o L e o

.

6.4.4 —

w (-t m (0 2m

. Z?+d,z7"+d,

=— = 6.30
d,Z<+dzZ" +1

6.29
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z=¢l%  7=¢*
z=e% _ z=¢“
z=1-27Z=+%#1

COSDwz o O

H 2
Uw, —a U
COSBTB

1

cosw, =

W,

6.5 MATLAB IR

IR

Butterworth
Il Elliptic

6.5.1 MATLAB IR

IR MATLAB
1 buttord.m

1 [N Wn]=buttord Wp Ws Rp Rs
2 [N Wn]=buttord Wp Ws Rp Rs 'S
1 Wp Ws
01 1
Ws Wp Ws 1x2
dB N Wn

6.31
6.32
6.33
w,
Chebyshev
Bessel
Wp

Rp Rs
3dB
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Wp
2 1 Wp Ws
Wn rad/s
2 buttap.m
G(p)
[z p K]=buttap(N)
N z p k G(p)
3 Ip2lp.m
4 Ip2hp.m
5 Ip2bp.m
6 Ip2bs.m
4 G(p)
1 [B Al=Ip2lp(b a Wo) [B Al=Ip2hp(b a Wo)
2 [B Al=lp2bp(b a Wo Bw) [B Al=lp2bs(b a Wo Bw)
b a G(p) B A
H(s) 1 Wo
2 Wo Bw
7 Dbilinear.m
H(s) H(2)
[Bz AZ]=bilinear(B A F9)
B A H(s) Bz Az H(2)
Fs
8 butter.m
buttord.m buttap.m Ip2lp.m
bilinear.m
1 [B Al]=butter N Wn
2 [B Al=butter N Wn ‘high’
3 [B Al=butter N Wn ’stop’
4 [B Al=butter N Wn s

1 3 B A H(2)
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9 cheblord.m

10 cheblap.m

11 chebyl.m

3

12 cheb2ord.m
13 ellipord.m
14 cheb2ap.m
15 ellipap.m
16 besselap.m
17 cheby2.m
18 ellip.m

19 besself.m

MATLAB

20 impinvar.m

21 maxflat.m
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22 yulewalk.m
Yule-Walker
6.5.2 MATLAB IR
6.5 MATLAB 6.4

MATLAB

f p=100; f st =300; Fs=1000;

rp=3; rs=20;

wp=2[bi [ p/ Fs;

ws=2[pi [f st/ Fs;

Fs=Fs/Fs; % let Fs=1

wap=t an(wp/ 2) ; was=t an(ws/ 2) ;
[n,wn] =butt ord(wap, was, rp,rs,’s’)
[z, p, K] =buttap(n);

[bp, ap] =zp2tf(z, p, k)

[ bs, as] =l p2l p(bp, ap, wap)

[ bz, az] =bi | i near ( bs, as, Fs/ 2)
[h,w] =freqz(bz, az, 256, FsS[11000) ;
pl ot (w, abs(h));grid on;

bp=[1,0,0],ap=[1, 1. 4142, 1], bs=[ 0. 1056, 0, 0], as=[ 1, 0. 4595, 0. 1056]
bz=[ 0. 0675, 0. 1349, 0. 06745],az=[1, - 1. 143, 0. 4128]

6.4
6.6 F, =2000Hz
H 4o (2) 1 300 400Hz
3dB 2 200Hz 500Hz 18dB
MATLAB

clear all;
f p=[ 300 400]; fs=[ 200 500];
rp=3; rs=18;
Fs=2000;

wp=f p[2[pi / Fs;

ws=f s[2[pi / Fs;

%

% Firstly to finish frequency prewarping;
wap=2[Fst an(wp./ 2)

was=2[Fst an(ws./2);

[n,wn] =butt ord(wap, was, rp,rs,’s’);

% Note: 's'!
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[z, p, K] =buttap(n);

[bp, ap] =zp2tf(z, p, k)

%

bw=wap( 2) - wap(1)

wo=sqrt (wap( 1) Cap(2))

[ bs, as] =l p2bp(bp, ap, w0, bw)

%

[ h1,wl] =freqs(bp, ap) ;

figure(l)

pl ot (wl, abs(hl));grid;

yl abel (" | owpass Q(p)’)

%

wW2=[ 0: Fs/ 2-1] R[pi ;

h2=f reqs(bs, as, w2) ;

% Note: z=(2/Ts)(z-1)/(z+1);
[bz1, az1] =bil i near (bs, as, Fs)

[ h3,w3] =freqz(bz1, az1, 1000, Fs) ;
figure(2)

pl ot (w2/ 2/ pi, 200 0g10(abs(h2)), w3, 200 ogl0(abs(h3)));grid;
yl abel (" Bandpass AF and DF’)

x|l abel (" Hz')
%
6.7
wap =
1. 0e+003 O
2. 0381 2.9062
bp =
0 0 1
ap =
1. 0000 1.4142 1. 0000
bw =
868. 0683
wo =
2.4337e+003
bs =
1. 0e+005 0O
7.5354 -0.0000 0. 0000
as =
1.0e+013 O
0. 0000 0. 0000 0. 0000 0. 0007 3.5083
bzl =
0. 0201 0. 0000 -0.0402 0. 0000 0. 0201
azl =
1.0000 -1.6368 2.2376 -1.3071 0.6414
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=50

-100

ST 1) RS 0 SR S T o e
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Bandpass AF and DF

lowpass G(p)

2280 pr bbb s e

e e -

0 i i i i i i i i i
0 100 200 300 400 500 600 700 800 900 1000
Hz

a b
6.7

6.7 MATLAB f,=100Hz, f, =
300Hz a,=3dB a,=20dB F, =1000Hz

clear all;

f p=100; f s=300; Fs=1000;

rp=3; rs=20;

%

wp=2[bi [f p/ Fs;

ws=2[pi [f s/ Fs;

Fs=Fs/Fs; % let Fs=1

% Firstly to finish frequency prewarping ;
wap=t an(wp/ 2) ; was=tan(ws/ 2); %

[n,wn] =buttord(wap,was, rp,rs,’s’) %

% Note: ’'s'!

[z, p, K] =buttap(n);

[ bp, ap] =zp2tf(z, p, k)

[ bs, as] =l p2l p(bp, ap, wap)

% Note: s=(2/Ts)(z-1)/(z+1);Ts=1,that is 2fs=1,fs=0.5;
[ bz, az] =bi | i near ( bs, as, Fs/ 2)

[h,w] =freqz(bz, az, 256, FsS[11000) ;

pl ot (w, abs(h));grid on;

0. 4363
bp =
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1. 0000

0. 1056

0. 0675

0.4128

0 0 1
ap =
1. 0000 1.4142
bs =
0. 1056
as =
1. 0000 0. 4595
bz =
0. 0675 0. 1349
az =
1.0000 -1.1430
6.8
1.4

U S P RO S RPUNE WO NS S S SO

6.8
50rad/s 30dB

6.8

MATLAB

W=30; W=50; Rp=1; As=30;

Ri ppl e=10"(- Rp/ 20) ;
At t n=10"( - As/ 20) ;

[ b, a] =af d_but t (W, i, Rp, As)

[ C B, Al =sdi r2cas(b, a)

[ db, mag, pha, w] =freqs_n{b, a, 50) ;

[ ha, x, t] =i mpul se(b, a);
figure(l);clf;

subplot(2,2,1);plot(w mag);title(’ Magni tude Response’);
x| abel (" Anal og frequency in rad/s’);

%

%
%
%
%

0 I S N T D ——— T
0 50 100 150 200 250 300 350 400 450 500

30rad/s

1dB
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yl abel (" H);

axis([0,50,0,1.1])

set (gca,’ XTi ckMode’ ,’ manual ’,’ XTick’, [0, 30, 40, 50]);

set (gca,’ YTi ckMode’ ,’ manual ’,’ YTick’ ,[ 0, Attn, Ri pple, 1]);

grid

subplot(2,2,2);plot(w,db);title(’ Magnitude in dB);
x| abel (" Anal og frequency in rad/s’);

yl abel (" deci bel s');

axis([0,50,-40,5])
set(gca,’ XTi ckMode’ |’ manual
set (gca,’ YTi ckMode’ ,’ manual
grid

' XTick’, [0, 30, 40, 50] ) ;
"YTick',[-40,-As,-Rp,0]);

subplot(2,2,3);plot(w pha/pi);title(’ Phase Response’);
rad/s’);

x| abel (" Anal og frequency in
yl abel (" radi ans’);

axis([0,50,-1.1,1.1])

set (gca,’ XTi ckMode’ |’ manual
set(gca,’ YTi ckMode’ |’ manual
grid

' XTi ck’, [0, 30, 40, 50] ) ;
"YTick’,[-1,-0.5,0,0.5,1]);

subplot(2,2,4);plot(t,ha);title(’ I npul se Response’);

xl abel ("tinme in seconds’);
yl abel (" ha(t)’);

axi s([0, max(t) +0. 05, m n(ha), max(ha) +0. 025]) ;
set(gca,’ XTi ckMode’,  manual ’,’' XTick’ ,[0,0.1, max(t)]);
set(gca,’ YTi ckMode’ ,’ manual ’,’ YTick' ,[0,0.1, max(ha)])

grid
%

function[b, a] =af d_butt (W, W, Rp, As) ;

if W<=0

error (' Passband edge nust
end
if Ws<=Wp

error ('’ Stopband edge nust
end
if (Rp<=0)]| (As<0)

error('PB ripple and /or
end

N=cei | ((1 0g10( (10~(Rp/ 10) - 1)/ (107(As/ 10)-1)))/ (20 oglO( W/ V))) ;

SB attenuation nust be larger than 0')

be larger than 0')

be | arger than Passed edge’)

fprintf(’\n OJButterworth Filter Order=%.o0of\n’, N
OregaC=W/ ((10"(Rp/ 10) - 1) *(1/(2IN)));
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[ b, a] =u_but t ap(N, OmregaC) ;

%

function [b, a] =u_buttap(N, OregaC);
[z, p, k] =buttap(N)

p=pCOnegaC;

k=kOnmegaC™N,;

B=real (poly(2));

b0=k;

b=k [B;

a=real (poly(p));

%

function [db, mag, pha, w] =f reqs_n{b, a, wrax) ;
w=[ 0: 1: 500] Owumax/ 500;

H=freqs(b, a, w);

mag=abs(H);

db=200 0g10( ( mag+eps) / max(mag)) ;

pha=angl e(H);

%
function [C, B, Al =sdir2cas(b, a);
Na=I engt h(a) - 1; Nb=I engt h(b) - 1;
b0=b( 1) ; b=b/ bO;
a0=a(1);a=al a0;
C=b0/ a0;
p=cpl xpai r(roots(a)); K=fl oor(Na/ 2);
i f KR2==Na
A=zeros(K, 3);
for n=1:2: Na
Arow=p(n: 1:n+1,:); Arow=pol y( Arow);
A(fix((n+l)/2),:)=real (Arow);
end
el seif Na==
A=[0 real (poly(p))];
el se
A=zer os(K+1, 3);
for n=1:2: 2[K
Arow=p(n: 1: n+1, :); Arow=pol y(Arow);
A(fix((n+1)/2),:)=real (Arow);
end
A(K+1,:)=[0 real (poly(p(Na)))];
end
z=cpl xpai r(roots(b)); K=fl oor (Nb/ 2);
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if Nb==0
B=[0 0 poly(z)];
el sei f KR2==Nb
B=zeros(K, 3);
for n=1:2: Nb
Brow=z(n: 1: n+1, :); Brow=pol y(Brow);
B(fix((n+l)/2),:)=real (Brow);
end
el seif Nb==
B=[0 real (poly(z))];
el se
B=zer os(K+1, 3);
for n=1:2: 2[K
Brow=z(n: 1: n+1, :); Brow=pol y( Brow) ;
B(fix((n+l1)/2),:)=real (Brow);
end
B(K+1,:)=[0 real (poly(z(Nb)))];
end

6.9

(dTButterworth Filter Order=11f
b =

3. 8682e+013
a =

1.0e+013 O

Colums 1 through 6

0. 0000 0. 0000 0. 0000 0. 0000 0. 0000 0. 0001
Colums 7 through 10

0. 0036 0.0613 0. 6888 3.8682

C =
3. 8682e+013
B =
0 0 1
A =
1. 0e+003 0O
0. 0010 0. 0608 1. 0458
0. 0010 0. 0495 1. 0458
0. 0010 0. 0323 1. 0458
0. 0010 0. 0112 1. 0458
0 0. 0010 0.0323
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Magnitude Response

Oregap=0. 2[pi ; Oregar =0. 3[pi ; Dt =1; Ar =16;

[ b, a] =af d_chb1( Oregap, Onegar, Dt , Ar) ;
[ C B, Al =sdir2cas(b, a)

[ db, mag, pha, w] =freqs_n(b, a, pi );

[ ha, x, t] =i mpul se(b, a);

subpl ot (221) ; pl ot (W pi, mag);title(’
subpl ot (222) ; pl ot (W pi ,db);title(’
subpl ot (223) ; pl ot (W pi, pha/pi);title(’
subpl ot (224);plot(t,ha);title(’
axi s([0, max(t), m n(ha), max(ha)]);

%

%
%
%

%

Magnitude in dB

| Ha(j\ Qrega)|");
(dB)");

1 0
0.8913
= £
3
,30 \
00316{\ N AN Y 740/\ an AN n
v VU Gy JU U hlv) 44U U
Analog frequency in rad/s Analog frequency in rad/s
Phase Response Impulse Response
1 10.6703
0.5
-
5 0 F
E:S =
-0.5
N\
N
B 0.1
0 30 40 50 0 0.1 0.2479
Analog frequency in rad/s time in seconds
6.9
2 MATLAB
1 I MATLAB
6.9 | Q,=0.2mmad/s
J=1dB Q.=02mad/s A =160dB

");axis([0,1,-1,1]);

ha(t)");

function[ b, a] =af d_chb1( Oregap, Oregar, Dt, Ar);
if Onmegap<=0
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error(’ 0")
end
i f Omregar <=0Oregap
error(’ ")
end
if (Dt<=0)]| (Ar<0)
error(’ 0’)
end
ep=sqrt (10°(Dt/10)-1);
A=10"( Ar/ 20);
OnmegaC=0Oregap;
OregaR=Onegar/ Oregap;
g=sqrt (ACA- 1)/ ep;
N=ceil (1 0g10(g+sqrt (gl-1))/1 0gl0( OnegaR+sqrt (OnegaROmegaR-1)));
fprintf(’\nID | =02. 0f\n" ,N);
[ b, a] =u_chblap(N, Dt, OnegaC) ;

% I
function [b, a] =u_chblap(N, Dt, OnegaC) ;
[z, p, k] =cheblap(N, Dt);
a=real (poly(p));
aNn=a( N+1);

p=pCOnegaC;

a=real (poly(p));
aNu=a( N+1);

k=k[aNu/ aNn;

b0=k;

B=real (poly(2));

b=k[B;

6.8
6.10

W B

0. 0383

o8}
1

1. 0000 0.4233 0. 1108
1. 0000 0. 1753 0. 3895

2 I MATLAB
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. W& FE AR [Ha(jo)| 20 e FEE AR (dB)
0.8 \ 0 f——\
0.6 -20 ]
0.4 ] ~40
0.2 ~60 \
0 a -80 A .
0 02 04 06 08 1 0 02 04 06 08 1
FEALIE R BT R R, hat)
! ' ' 0.2
0.5 0.15}
0.1
0
0.05
e o /\\//\v,\v,__
B -0.05 \/ _ _

0 O.‘2 0:4 06 0.8 0 10 20 30 40

[

6.10 1 Q.= 0.2rad/s
0 =1dB Q,=02mad/s A =16dB

Oregap=0. 2[pi ; Oregar =0. 3[pi ; Dt =1; Ar =16;
[ b, a] =af d_chb2( Oregap, Onegar, Dt, Ar);
[C B, Al =sdir2cas(b, a)

[ db, mag, pha, w] =freqs_n{b, a, pi );

[ ha, x, t] =i mpul se(b, a);

subpl ot (221) ; pl ot (W pi, mag);title(’ | Ha(j\ Orega) |’ );

subpl ot (222) ; pl ot (W pi ,db);title(’ (dB)’);

subpl ot (223) ; pl ot (W pi, pha/pi);title(’ ");axis([0,1,-1,1]);
subpl ot (224);plot(t,ha);title(’ ha(t)');

axi s([0, max(t), m n(ha), max(ha)]);

% Il
function[b, a] =af d_chb2( Onegap, Oregar, Dt, Ar) ;
if Oregap<=0
error(’ 0)
end
i f Omregar <=0Oregap
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error(’ ")
end
if (Dt<=0)]| (Ar<0)
error(’ 0’)
end
ep=sqrt (10°(Dt/10)-1);
A=10"( Ar/ 20);
OnmegaC=0Oregap;
OregaR=Onegar/ Oregap;
g=sqrt (ACA- 1)/ ep;
N=ceil (1 0g10(g+sqrt (gl-1))/1 0gl0( OnegaR+sqrt (OnegaROmegaR-1)));
fprintf(’\nID Il =92.0f\n" , N);
[ b, a] =u_chb2ap(N, Ar, OnegaC) ;

% Il
function [b, a] =u_chb2ap(N, Ar, OnegaC) ;
[z, p, k] =cheb2ap(N, Ar);
a=real (poly(p));
aNn=a( N+1);

p=pCOnegaC;

a=real (poly(p));
aNu=a( N+1);

k=k[aNu/ aNn;

b0=k;

B=real (poly(2));

b=k[B;

6.1
6.11

0. 0247

1. 0000 0 6. 8284
1. 0000 0 1.1716

1. 0000 1. 3014 0. 6554
1. 0000 0.2480 0. 3015

3 MATLAB

1 MATLAB
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s Wik FEE MR [Ha( ) 20 WE EL AN (dB)
0
/\ 20 /\
1 |~ 1 hd
—40
-60
0.5 -80
-100
0 . -120
0 02 04 06 0.8 1 0 0.2 04 06 08 1
FEGLIA R ALK TR hat)
1 0.2
0.15
0.5 0.1
0.05} 1
0
0
R l—\ —0.05 /\ N
-0.5
Yy
-1 Ot
0 0.2 0.4 0.6 08 1 0 10 20 30
6.11 I
6.11 0.2rrad
1dB 0.3rrad T 15dB

=1 I
I

Wp=0. 2[pi ; W =0. 3[pi ; Ap=1; Ar=15; T=1;

Oregap=W/ T; Onregar =W/ T,

[cs, ds] =af d_chbl( Onmegap, Oregar, Ap, Ar)

[ C B, Al =sdir2cas(cs, ds);

[ db, mag, pha, Orega] =freqs_nmn{(cs, ds, pi ) ;

subpl ot (234) ; pl ot (Orega/ pi , mag);title(’ | Ha(j\ Orega)|’);
[b,a] =inmp_invr(cs,ds, T);

[h, n] =i npz(b, a);

[ C B, Al =di r2par (b, a)

[ db, mag, pha, grd, w] =freqz_m(b, a);

subpl ot (231); pl ot (W pi,mag);title(’ | Ha(j\ Orega) | ') ;
subpl ot (232) ; pl ot (W pi,db);title(’ (dB) ") ;

subpl ot (233); pl ot (W pi, pha/pi);title(’ );

subpl ot (235);plot(n,h);title(’ ");

%

function [b,a]=inp_invr(c,d,T)
[R, p, k] =resi due(c, d);
p=exp(pLT);
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[ b, a] =resi duez(R, p, k) ;
b=real (b). OT;
a=real (a);

%

function [db, mag, pha, grd, w] =freqz_m(b, a);
[H w =freqgz(b, a, 1000, whol e’ );
H=(H(1:501)) " ; w=(w(1:501))";

mag=abs(H);

db=200 0g10( ( mag+eps)/ max(mg)) ;

pha=angl e(H);

grd=gr pdel ay(b, a, w) ;

%
function [C, B, Al =dir2par(b,a);
M=l engt h( b) ;
N=l engt h(a);
[r1, pl, C] =residuez(b, a);
p=cpl xpai r (pl, 10000000Ckps);
I'=cpl xconp(pl, p);
r=ri(l);
K=fl oor (N 2); B=zeros(K, 2); A=zeros(K, 3);
i f K2==N
for i=1:2:(N-2)
Brow=r(i:21:(i+1),:);
Arow=p(i:1:(i+1),:);
[ Brow, Ar ow] =r esi duez(Brow, Arow, []);
B(fix((i+1)/2),:)=real (Brow);
A(fix((i+1)/2),:)=real (Arow);
end
[ Brow, Arow] =resi duez(r(N-1),p(N-1),[1);
B(K,:)=[real (Brow) 0];A(K,:)=[real (Arow) O0];
el se
for i=1:2:(N1)
Brow=r (i:1:(i+1),:);
Arow=p(i:1:(i+1),:);
[ Brow, Arow] =r esi duez(Brow, Arow, []);
B(fix((i+1)/2),:)=real (Brow);
A(fix((i+1)/2),:)=real (Arow);
end
end

%
function | =cpl xconp(pl, p2);
=1
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for j=1:1ength(p2)
for i=1:1ength(pl)
if (abs(pl(i)-p2(j))<0.0001)
I=[1,i];
end
end
end

| %%?%[’E?&%%fﬁﬁﬁiﬂﬁﬁ\i\ﬂa(’jﬂ)\ 20%&??[%%&%%@@@@((13) 1 PG e s DAL I

1.2
[ :
1 05F
0.8 —20¢ 1 /
0
‘ 0.6 40} ]
0.4 _ L
_eol | 05
0.2
o =80 1
0 0.5 1 0 0.5 1 0 0.5
FELFUL 78 U7 2 MR8 2 A 7 [ Hla )l 025 Bk R
1 :
0.2+
0.8}
0.15}
‘ 0.61 ] 0.1
. | 005
i Tv—
| 02 k‘ | —0.05} V
0 -0.1 : :
0 0.5 1 0 50 100 150
6.12 |
6.12
[N | =4
cs =
0. 0383
ds =
1. 0000 0. 5987 0.5740 0.1842 0. 0430
C =
[]
B =

—0.0833 -0.0246
0. 0833 0. 0239
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1dB

1. 0000
1. 0000

6.12

=1

—1.4934
—1. 5658

0. 8392
0. 6549

MATLAB

0.3rrad TUAd

Wp=0. 2[pi ; W =0. 3[pi ; Ap=1; Ar=15; T=1,;
Oregap=(2/T) @ an(W/ 2) ; Oregar=(2/ T) @k an( W/ 2);
[ cs, ds] =af d_butt (Onmegap, Oregar, Ap, Ar)

[C B, Al =sdi r2cas(cs, ds);

[ db, mag, pha, Orega] =freqs_nmn{(cs, ds, pi);

subpl ot (234) ; pl ot (Ovega/ pi , mag) ;title(’
[b,a] =bilinear(cs,ds, T);

[h,n]=inmpz(b, a);

[ C B, Al =di r2cas(b, a)

%

[ db, mag, pha, grd, w =freqz_n(b, a);
subpl ot (231) ; pl ot (W pi, mag);title(’
subpl ot (232) ; pl ot (W pi,db);title(’

subpl ot (233); pl ot (W pi, pha/pi);title(
subpl ot (235);plot(n,h);title(’

del t a_w=2[}pi / 1000;

Ap=-(m n(db(1:1: W/ delta_w+l)))
Ar =-round(max(db(W/del ta_w+l: 1:501)))

dTButterworth Filter Order= 6f

cs =
0. 1480
ds =

Colums 1 through 5

1. 0000

6.13

2.8100

Col ums 6 t hrough

0. 7862

(@)
SART

1. 0000

1. 0000

1. 0000
A =

1. 0000

1. 0000

0. 1480

. 7969e- 004

2.0284
1.9997
1.9719

-0.9459
-1. 0541

. 9482

. 0287
0. 9999
. 9722

. 2342
. 3753

3.5168

")

15dB

2.0884

0.21rad

| Ha(j\Omega) |’ );
(dB)’);
")

| Ha(j\ Qrega)|");
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1.0000 -1.3143 0.7149
Ap =

1. 0000
Ar =

18

B IR R IR VAR [Ha() B BRI FE NN (dB) BT R B AR AR LA R

14 100 1
|12} ] |
1 [ 0.5}
08 | 1 ~100F '
0
‘ n.ﬁ 3 E Y. YaYaui B i
il
0.4} ] \ o
| | 300} 0.5
| 0 : ~400 : -1 :
0 0.5 1 0 0.5 1 0 0.5 1
B BRI Ha( o) LR
1.2 0.25
| 102}
‘ 08l 0.15
0k 0.1
’ 0.05 .
‘ 04F 7 0f / \ e —— |
02 L 1-0.05 |
0 -0.1 : :
0 0.5 1 0 20 40 60
6.13
3 MATLAB
6.13 0.6m
1dB 0.4m 15dB T=1

Wp=0. 6pi ; W =0. 4[bi ; Ap=1; Ar=15; T=1;

[N, Wh] =but t ord(Wp/ pi , W/ pi, Ap, Ar) %

[b,a] =butter (N, Wh, " high'); %

[C B, Al =dir2cas(b, a)

[ db, mag, pha, grd, w] =freqz_m(b, a);

subpl ot (211) ; pl ot (W pi, mag);title(’ | Ha(j\Onega) | ') ;
subpl ot (222) ; pl ot (W pi ,db);title(’ (dB)’');

6.14
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N =
4
wh =
0. 5344
C =
0. 0751
B =
1. 0000 -2.0000 1. 0000
1.0000 -2.0000 1. 0000
A =

1. 0000 0. 1562 0. 4488
1. 0000 0.1124 0. 0425

B UK 25 B YR U I L WA R Ha( )

0 1 1 1 1 1 1 1 1
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

B TR IR 42 = T YR I8 o 1 FE MR (dB)

100 . . T T
ol

-100 | 1
=200 8
-300 F 1

-400 ' ' ' ' ' ' ' ' '
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

6.14
6.14 04mt 0.3m
3dB 051 0.21 18dB

Wo=[ 0. 3[pi, 0. 4[pi ] ; W=[0. 2[pi, 0. 5(pi ] ; Ap=3; Ar =18;
[N, Wh] =but t ord(Wp/ pi , W/ pi,Ap,Ar); %

[ b, a] =butter (N, Wh,’ bandpass’) %

[C B, Al =dir2cas(b, a)
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[db, mag, pha, grd, w =freqz_m(b, a) ;

subpl ot (211) ; pl ot (W pi , mag) ;title(’ | Ha(j\ Orega) | ') ;
subpl ot (212); pl ot (W pi, db);title(’ (dB)");
6.15
b =
0. 0213 0 -0.0426 0 0.0213
a =

1.0000 -1.6303 2.2183 -1.2919 0.6320

C =
0.0213
B =
1. 0000 -2.0000 1. 0000
1. 0000 2.0000 1. 0000
A =
1.0000 -0.6249 0. 7840
1.0000 -1.0053 0. 8061
B RRR 22 T IR U AR W AR (Ha(j )
] T T T T T T T T T
0.8+ /\ 4
0.6F // 1
04
02 4
UO 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
. B R 2L TR U SR I8 LA R (dB)
100 \
—200 .
—DJUU B
—-400 1 1 1 1 1 1 1 1 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
6.15
6.15 0.8m 0.2m

1dB 0.7t 0.4m 30dB
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Wo=[ 0. 2[pi, 0. 80pi ] ; W=[0. 4[pi, 0. 7Cpi ] ; Ap=1; Ar =30;
[N, Wh] =but tord(Wp/ pi , W/pi, Ap,Ar); %

[b,a] =butter (N, Wh,"stop’); %

[ C B, Al =di r2cas(b, a)

[ db, mag, pha, grd, w] =freqz_m(b, a) ;

subpl ot (211) ; pl ot (W pi , mag) ;title(’

subpl ot (212) ; pl ot (W pi,db);title(’

| Ha(j\Qrega) |’ );
(dB)");

6.16
B TR IR 25 H IR v a5 B WA R [ Ha )
1
0.8r
0.6r
04r
02r
0 I I I I I

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
100 Fer EURRIR 25417 RELUE Ui ot B WAV R (dB)
0

-100 1
=200 1
=300 - 1
_400 1 1 1 1 1 1 1 1 1

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

6.16
C =
0. 0394
B =

1. 0000 0. 3564 1.0023
1. 0000 0. 3549 0. 9969
1. 0000 0. 3526 1. 0054
1. 0000 0. 3497 0. 9946
1. 0000 0. 3473 1.0032
1. 0000 0. 3458 0. 9977
1. 0000 1. 3568 0. 7928
1. 0000 1. 0330 0. 4633
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1. 0000 0.6180 0.1775
1.0000 -0.2492 0.1113
1.0000 -0.6616 0. 3755
1.0000 -0.9782 0. 7446

Zmapping

function [bz, az] =zmappi ng(bz, az, Nz, Dz) ;
bzord=(length(bZ)-1) | engt h(Nz)-1);
azord=(length(az)-1) I | ength(Dz)-1);
bz=zeros(1, bzord+1);
for k=0:bzord
pl n=[1];
for 1=0:k-1
pl n=conv(pl n, Nz);
end
pld=[1];
for 1=0:bzord-k-1
pl d=conv(pl d, Dz);
end
bz=bz+bZ( k+1) Ckonv(pl n, pl d);
end
az=zeros(1, azord+1);
for k=0:azord
pl n=[1];
for 1=0:k-1
pl n=conv(pl n, Nz);
end
pld=[1];
for 1=0:azord-k-1
pl d=conv(pl d, Dz);
end
az=az+aZ(k+1) Ctonv(pl n, pld);
end
azl=az(1); az=az/ azl; bz=bz/azl,

6.16 Zmapping 6.12

wpl p=0. 2[pi ; %

wr | p=0. 3[pi ; %

Ap=1; %

Ar=15; %

T=1;
Oregap=(2/T) & an(wpl p/ 2); %
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Oregar=(2/ T)Q an(wl p/2); %

[cs, ds] =af d_chbl( Onegap, Oregar, Ap, Ar) ; %
[ bl p, al p] =bi linear(cs,ds, T); %

wphp=0. 6[pi ; %

al pha=- (cos((wpl p+wphp)/2))/ (cos((wpl p-wphp)/2))

Nz=-[ al pha, 1] ; Dz=[ 1, al pha] ; %

[ bhp, ahp] =zmappi ng(bl p, al p, Nz, Dz) ; %

[ C B, A] =di r 2cas( bhp, ahp) %
[ db, mag, pha, grd, w] =freqz_m(bl p, al p); %

[dbl, magl, phal, grdl, wl] =f r eqz_nm( bhp, ahp) ;: %
subpl ot (221) ; pl ot (W pi, mag);title(’
subpl ot (222) ; pl ot (W pi ,db);title(’

subpl ot (223) ; pl ot (wl/ pi, magl);title(’

subpl ot (224) ; pl ot (wl/ pi,dbl);title(’

6.17

AR I B A 8 WA 8 [Ha(j0)

=)
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02r
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0.4

0.6

0.8

T E YR A W FE N R [ Ha o)

=]

NN |
al pha =

0.2

-0.3820

C =
0. 0243
B =
1. 0000

0.4

- 2. 0000

0.8

6.17

1. 0000

-200

=300

-400
0

%

| Ha(j\ Qrega) | ") ;

(d

B)):

| Ha(j\ Orega)|");

(dB)");
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1.0000 -2.0000 1. 0000
A =
1. 0000 1. 0416 0. 4019
1. 0000 0. 5561 0. 7647
4 1IR
6.17 noisbloc

Wp=0. 2[pi ; W =0. 4[pi ; Ap=0. 25; Ar =50;

T=1; Oregap=Wp/ T; Oregar =W/ T;

[ cs, ds] =af d_chbl( Omegap, Oregar, Ap, Ar) ;
[b,a] =i nmp_invr(cs,ds, T);

[ db, mag, pha, grd, w] =freqz_m(b, a);

| oad noi sbl oc; i ndx=1: 1000;

x=noi sbl oc(i ndx);

subpl ot (211); plot(x);title(’ ")
y=filter(b, a, x);
subpl ot (212); plot(y);title(’ )

6.18

’s L il UNER
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" .  WEGRSES
15}
10|
5l
el
ol L v
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FIR
FFT
FIR H(2) IR
IR FIR
FIR z*
FIR FIR
IR
7.1 FIR
7.1.1
H (€)= H(@)e* =|H (") |e "™
a
T=a
O(w) =-Tw
Ow)=p-1w
FIR 7.3
T
pN-1
2
h(n)=h(N-1-n), 0snsN-1
h(n) N 75
FIR I
71 a 71 b

FIR

h(n)

7.1

7.2

7.3
74

7.5

7.6
7.6
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FIR 7.4 h(n)
T
T:E 7_7
2
Tt
=+— 7.8
A 2
h(n)=-h(N-1-n) 0<n<N-1 7.9
7.7 7.8 7.9 FIR
71 ¢ 71 d
o A
h(n) lr/ﬁ'%mmmb hn) Lﬁxmq:,b
! i —lf
e o1t 1l
Pt elffr et ¢l et Te _
¢ . n 0183456®809 n
0 2 4 6 8 10 2 U
(a) THU AR IR I 2% (b) MBS AR AT T i 28
N-1
2 N-1
. o
o i | p FEXTRRTL
. lT N-11 ! jT N=10
| I [ ] i = | ' -
!?2T4U_71_L'9F‘L‘ K EREIEN R
ol 1 T3 151671 8d10 ol 1 | 3 1/s] 7&9 n
SRR I BN R R
|
‘ o
() I BYER M AE AT BE I s (d) IVEUER AR AT BE I as
71
7.1.2
1 1
|
N-1
. N,
HE“) =e 2 Z)a(k)cos(ka)) 7.10
ON-1C
0)=h
O

ON-1 C N-1

a(k):ZhBT—kE k12 L ==
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7
71
E.
2
H(w) = g a(k) cos(kw) 711
By - N "D 7.12
2
7.10 7.11 I Hw) 7= Nz_l
w=0 T 2m 7.12
2
N h(n)
N-1
r=——
2
HE?)=e' Z b(k)COS%< >R D 713
ON O - N
_ _ k=1 2 L —
b(k) = 2h 2~k >
H () - gb(k)cos% 10 D .14
By - 0 5 2L 15
7.13 7.14 H (@)
1 W=TI H (1) =0 H(z2 z=-1
2 H (w) W=T w=0 21
|
3
N-1
T=—— T
2
N-
e T
H(e®) = je ; c(k) sin(k) 7.16
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_opN-1 L k=1 2 L N-1
E
2
H(w) = ; c(k)sin(kw) 7.17
g(w):MJrg 7.18
7.17 7.18 H (w)
1 Hw w=0 1 21 H(zg z=#1
2 Hw w=0 1 21N
7.18 T/ 2
90°
4
[:M’ N T
2
( N
Nl )
HE“) = je de(k)sn% 10 D 7.19
1

. ON .0 _ N
d(k)—ZhBE—kH 12 L

H(w)=§d(k)sin%<—%%u% 7.20

O(w) = M + 7.21
2 2
7.20 7.21 H (w)
1 Hw) w=0 2mn H(zg z=1
2 H@w w=0 2mn W=T

7.1.3
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h(n) =h(N -1-n)
H(2=z""H(zY
h(n) = —h(N -1-n)

H(z)=-z " H(z™)
H (Z) Z=17, z=1/ z,
h(n)

H(2)
z=re% r#1 620

jlmz

jimz
! 1
a
2
/ 4 /3/\
/1 Re:z
L~

7]\ 0 1 Re- -1 \ 0
1 2
(a) (b)
jlmz

O ~—

Re:z

)
,

©

7.2 FIR

- ig\4 o [ .
H(2)= -2 a-2're ) -2 S -7 el
o & m & C 7.22
= riz[l— 2r, (cos@)z" + 12z %][1- 2r,(cos8 )z + z77]
7.22 7.3 N =5
T=(N-1/2=2
7 z!
x(n)o
-2r,cos6. r2 . )
z z
1
[ —21,c0s6,
o y(n)
FIR

7.3
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2 z=2 r=1 60 6#m
72 b
H (2)=(1-z2"%¢%)1-z"€"%)=1-2(cos8 )z + 22 7.23
N=3 r=(N-1)/2=1
3 z=z nzl 6=0 ™
72 ¢
H(2)=Qtrz )[1+—21E|=1 Er+15zl+z-2 7.24
fi 0 O O
‘T 6 =m ‘o= 6 =0
N=3 r=(N-1/2=1
4 z=1 r=1 6=0 m
z=1 z=-1
H(2)=1tz 7.25

+ z=-1 - z=1 N=2 r:%L:llz

H(2)

7.2
7.2.1
H,(€*) FIR

H (€)= NZ?MH)E”“’” Hq(e) Ha(e"”)

hy ()

— 1 n jwy A wn wn Sln(wn)

hd(n)—ZTJ'_T[Hd(eJ ye'“'dw = —J’ edw S— 7.26

Ha(e"*) h,(n)
FIR h(n) h(n) hy(n)

hy(n) a(n) hy(n)
h4(n)

_.0 N-1g O N-1C
h(n)—a)EP — ﬁhEP > E 7.27

w(n) N h(n) w(n)
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7.1 H,(e“) 0<w<0.25n
1 0.25M<w<T 0 N=11 21 41
g -,
Hd(ejw)= o€ 2 0<sw<0.251
=) 0.25m<sw<sT
B 0<n<N-1
mm=%
7.27
©N-1m Siﬂ@lZ&TXﬁﬁ—Nz_l
h(n) = - =
(W =hn-—1 ﬁ" N-10
'r[ —
2 H
N=11
h(0) = h(10) =-0.045 h(1) =h(9)=0 h(2) = h(8) = 0.075
h(3) =h(7)=0.1592 h(4) =h(6) =0.2251 h(5) =0.25
r=(N-1)/2=5 74 a
h(n) N=11 21 41 RICR] 74 Db
N=20
03 : ! = N=40 y _________]
02f-------- ol :\’\ﬂ :
= = |M=10 i
=0.1f------F-}-1-4--F-----1 . B
ST |
0 ) i
: w/zn\lﬁ‘ ;
0.1 ' AN
0 5 10 0 0.25 0.5
C w/2T
a b
74 7.1
74 b N
N H(E?) H,(e*) N
N
hy(n) Hq(e)

D) sinc(w)
Hd(ejw)
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1.2.2
1
aw(n) =R (n) 7.28
ONw[
snF
Wi () W) D2 1 729
sin
BEE
AT/ N =2x 21/ N Aw=0.9x21/N
2 Hanning
02m
n) = .5-0.5cos n 7.30
c-o-oses o
W 0.5W, +0.25 - W 7.31
(@) = 0.5, (@) @v o e W
4x 21/ N =81/ N Aw=3.1x21/N
3 Hamming
w(n) = @54— 0.46cosﬁl\|2—ml%%N (n) 7.32
W(w) = 0.54W; (w) +0.23 - W 7.33
(@) = .50 (a) @v s
4x 21/ N =81t/ N Aw=3.3x21/N
4 Kaiser
2n
l, B8, 1- (-
w(n) = EG N7 E 0O<nsN-1 7.34
1o (B)

lo( )

B
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B w(n)
B 4<B<9 Aw=5x21/N
4 7.1 FIR
7.1

dB (X 21/N) (X 21/ N) dB

-13 2 0.9 21

-31 4 31 —44

-41 4 33 -53

57 5 —80

N N
7.2.3 FIR
FIR
7.26
1
E _(N-D)
Hy(€“)=0® ° @, SWST 7.35
EY Oswsw,
o5 -
hd(n)——J' e Bd(u+—J’ e 2 B
sn 0 "ﬁ"‘ N—1m_gn%1_ N —1% 0
h,(n) = HT 2 @ 2 H 7.36
n%_ N-10
2
2
_j(N-)
H (e’”):% W <wWsw, 7.37
HO
_ 1 o o
hy(m=_-[ e L e
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. N-1 O N-1 O
ey
hy(n) = N=ig
nﬁj_ 2
3
i
Hy(e) = F ke lefza,
=Y
_ 1 e 1 Jelh 1w e
hd(n)—ETI_n e Bda)+ZJ_m|e Bola)+ETL)he o
sin %1 sin N 1D D
hy(n) = N—ig
ﬁ“ ]
7.36 7.38
@, @
2 @,
h(n) = w(n)hy () n=0 1 L N1
h(n)
h(n) = +h(N -1-n)
7.3
hy(n)
h(n) h, (n) H(€?)
Hd(ejw)

Hy(e")

Ho(@)|_2m =Ha(K)

k

Hq (k) FIR H (k)

7.38

7.39

7.40

741

h(n)
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H (k) = H,(k) = H,(e'*) om k=0 1 L NA1

k

H (k) DFT N H (k)
h(n)

1 Nt L
h(n)=—3% H, (kleN k=0 1 L N1
(n) N; 4(K)

7.43
N-1 N-1 [J1 N-1 el
H(z)=Zjh(n)z Z) 5%H (k)e N [z "
—iNZjH (k)Z_j N
_iZH (K)————
1- eN 7t
. 1Nt 1-gioN
HE)=H@)| == HyK——F——
= N ; l—ejﬁnke_jw
2.0, 2
o 2
sin N H%
. (N—l) N-1 (N D, B 2 =
H(&*) = e ZH (k)e . .
(0 21k [
Nsin ﬁ‘ﬁ%
5 2 H
7.46 H(€“)
OwN O
(N—l) Sn
O(w) = e 2 FH
NSlnBEB
HE) = 3 Hy90(@- 11
747

2T[

H(EN) =H(K) = Hy(k) =Hy(€N)

21'[

7.42

7.43

7.44

7.45

7.46

147
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N Hq (k)
H,(e') N HE?) H,(€?)
H(e?)
7.43 h(n) Ho(k)  Hgy(k)
. |Hq(K) [F1 |Hqy(K) |FO
. H, (k) 7.43 h(n)
. h(n) H (')
Hq (k)
7.46
ijn
Hy (ke N =
H(€?)
N-1
Ow)=——7w
(w) >
|Hq4(k) [F1
N
H,(ky=e N k=0 1 L N-1
DFT h(n) H, (k)
Hg(k) =Hg(-K) = Hy (N -K)
7.48 7.49
_j(N-DNK) . (N
Hi(N-k)y=e N =g/ N
N e ®m=-1 N el =1
7.48 H, (k) 7.49
N
0 - (N-Dy
e k=0 1 L —-1
O
N
Ha(k) = (D -3
0
0 -j(NDyp N
Fe N =—+1 L N-1
0
N
_j(N-D)
H,(k)=e N k=0 1 L N+

?(w)

H, (k)

=M IH (k)

N

7.48

7.49

7.50

H, (k)

7.51

7.52
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1 N 7.51
7.52 H, (k) H,(k)=0
2 H, (k) 7.44
H(€?)
7.2 1/10
N=20
N H,(e"“) 7.51
Hy(0) =1
H=e'm
H,(19) = H,(20-) = Hi@M =& ®
k H,(k)=0
H, (k) 7.43 h(n)
h(0) = h(19) =-0.04877 h(1) =h(18) = -0.0391
h(2) =h(17) =-0.0207  h(3) = h(16) = 0.0046
h(4) =h(15) =0.03436  h(5) = h(14) = 0.0656
h(6) = h(13) =0.0954  h(7) = h(12) =0.12071
h(8) =h(11) =0.1391  h(9) = h(10) = 0.14877
7.4 MATLAB FIR
7.4.1 MATLAB
FIR MATLAB
FIR
1
MATLAB 8
1 bartlett.m
2 blackman.m
3 boxcar.m
4 hamming.m
5 hanning.m
6 triang.m
7 chebwin.m
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8 kaiserm

2 FIR

MATLAB FIR
1 firlm
FIR
* b=firl N Wn
 b=firl N Wn ‘’high’
e b=firl N Wn ’stop’
N N+1 Wn

b=firk N Wn ’'DC-T b=firk N Wn ’'DC-O’

firl
2 fir2m
FIR
b=firk N F M
F 0~1 M F
3 remez.m
FIR

e b=remez N F A
e b=remez N F A W
e b=remez N F A W ‘hilbert’
e b=remez N F A W ’differentiator’
N b N+1 F

0~1 A F w

b
b N

4 remexord.m
FIR

[N Fo Ao W]=remexord F A DEV Fs
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remez.m

Ao
remexord
b=remez N Fo Ao W

remexord N

1 b
5 sgolay.m

Savitzky-Golay
b=sgolay k f

k f
6 firlsm
FIR

7 firclsm

8 firclsl.m

9 firrcos.m
FIR

7.4.2 MATLAB FIR

7.3 N=10
MATLAB

clear all;

N=10;

ba1=fir1(N, 0. 25, boxcar (N+1)); %
b2=fir1(N, 0. 25, hamm ng(N+1)); %
%

M=128;

hi=freqz(bl,1, M;

h2=freqz(b2,1, M;

%

t =0:10;

subpl ot (221)

stem(t,b2,’.");hold on;

remez

k<f f

FIR

FIR

7.1

remez
remexord
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plot(t,zeros(1,11));grid;
f=0:0.5/M0.5-0.5/M
ML=M 4;
for k=1: M

hd(k) =1;

hd( k+ML) =0;

hd( k+20ML) =0;

hd( k+30ML) =0;
end
subpl ot (222)
plot(f,abs(hl),  b-",f,abs(h2), g-",f,hd,”-");grid;

7.5

0.3

i et AN SESRESRRRI

NN

-0.1
0

7.5

7.4 0.2~0.3 0.6~0.8

clear all;

f=[0 0.19 0.2 0.3 0.31 0.59 0.6 0.8 0.81 1];
%
m[0011001100];
%

N1=30;

N2=90;

%

bl=fir2(NL, f, m;
b2=fir2(N2,f, m;

%

subpl ot (311);
stem(bl,’.");grid;
subpl ot (312);
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stem(b2,’.");grid;

M=128;

[h1,w] =freqgz(bl, 1, M 1)
[h2,w] =freqz(b2,1, M 1)
subpl ot (313);

)

pl ot (w, abs(hl),’ b-",w abs(h2), g-");grid;

7.6

O 4b v ............................. ............. ..............
0 IR D } ........... S ST RSSO
0 .r!lrfl;llf]:l 1
70.2 1 1 1 1 1
0 5 10 15 20 25 30 23S
0.4 ' ) T ! ; ! ! T T

O IUHUUS TRPRRSS TR FRSRSS BRSNS NERNRTS SRR U N —

0 R 1 R N D
* : BINLR T ¥ : ;
—02F e f | L SO s S

7.5

w, =0.71

clear all;
f=[0 .6 .7 1];
%

A=[1 1 0 0];
%

wei gh=[1 10];
%

wp=0.6n
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b=remez(32, f, A wei gh);
%
[h,w] =freqz(b, 1, 256, 1);
h=abs(h);
h=200 0g10( h) ;
figure(l)
stem(b,’.’);grid;
figure(2)
plot(w h);grid;
7.7
, 0.7 10
L0 h i e 0
L05F - ........... ..... -10
‘ . : ! -20
! 04 ............ R R R I
: o3k o ] ] ............ w0 7
‘ (1)9)| Resasaanna0e U (|A1 ...................... _s0
D01k SRR 1 ey 60}
: Ot '10?11 T 'I@ 11t‘1' T -70 i.”“
—OLp L l j - ........... { -g0
-02 i : : -90 :
‘ 10 20 30 40 0 0.1 0.2 0.3 0.4 0.5
a b
7.7
7.6
500Hz 50Hz
clear all;
% FI R

f=[0 .14 .18 .22 .26 .34 .38 .42 .46 .54 .58 .62 .66 1];

A=[11 00110011001 1];
weigh=[8 1 8 18 1 8];
b=remez(64,f, A weigh);
%

[h,w] =freqz(b, 1, 256, 1);
hr =abs(h);

h=abs(h);

h=200 og10( h);
figure(l)
stem(b,’.’);grid;
figure(2)
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plot(w h);grid;
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